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ARUL IAS ACADEMY . GROUP 1 PRE MODEL 2-2017

oL No': D GS1902
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Number

2017
GENERAL STUDIES
(Degree Standard)

Time Allowed : 3 Hours]) ' [Maximum Marks : 800
Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS - »

L This Booklet has a cover (this page) which shauld not be opened: till the invigilator gives signal to open
it at the commencement of the examination. As soon as the signal ia received you should tear the right
side of the booklet cover carefully to open the booklet. Then proceed to answer the quéstions.’

2. This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are
requested to check whether all the questions are there in series ‘without any omission and
ensure there are no blank pages in the question booklet. [n case any defect in the Question
Paper is noticed it shall be reported to the Invigilator within first 10 minutes.

3.  Answer all questione. All questions carry equal marks, - :

4. You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet. :

5. - An Answer Sheet wil! be supplied to you separately by the Invigilator to mark the aﬁawe:rfa.

T~ 6. You will also encode your Register Number, Subject Code, Question Booklet Sl. Na. ete. with Blue op
: Black ink Ball point pen in the space provided on the side 2 of the Anewer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.

7.  Each question comprises four reaponses (A), (B), (C) and (). You are to select ONLY ONE correct
response and mark in your Apswer Sheet. In case, you feel that there are more than one correct
response, mark the reaponse which you consider the best. In any case, choose ONLY ONE reeponse for
E:ch quesstwnh' . Your total marks will depend on the number of correct responses marked by you in the

swer Sheet. o : . . )

8. In the Answer Sheet there are four circles @), @, © and(D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g I
for any item,(B) is the correct answer, you have to mark as follows :. - -

@00Q

9. You should not remove ar tear off any sheet from thiz Queation Booklet, You are not allowed to take
: this Question Booklet and the Answer Sheet out of the Examindtion Hall during the examination

10. The sheet before the last page of the Question Booklet can be used for Rough Work.

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion. '

12 For Question No. 101 to 200 in all matters and in cases of doubt, the English Version ig final.
13. Do not tick-mark or mark the answers in the Queation booklet.
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 2-2017
1) Match the following:

A)
B)
C)
D)

a) IgM 1.Delta Grevrr

b) IgA 2.Epsilon erestidlsvmrssr
c) IgG 3.Mu wflyy,

d) IgD 4.Alpha gysour

e) IgE S.Gamma sriwor

a-4,b-5,c-1,d-2,e-3
a-5,b-4,c-2,d-1,e-3
a-4,b-5,c-2,d-1,e-3
a-5,b-4,c-1,d-3,e-2

2) Cortical granules develop from which of the following cell organelle?

A)
B)
C)
D)

A)
B)
C)
D)

Mitochondria

Endoplasmic Reticulum

Golgi bodies

Ribosome

LTewlld HIa6TaHeT 6Thg ClFev 2 srepmiliLseaflsy @) (hhg 2 (HeuTSIngl: P
ol GLrdesmevsrL_mMuim

eTeaaorGLm LNermervidls auemev

HT6V2) 2 miLiL|&6iT

MNGuUTGFTLDSH6T

3) Find out the correct Match/es:

A)

I) Gymnosperms - Open seeded plants

1) Cellular respirtation - Mitochondria

III) Algae and fungi - Thallophyte

V) Numerical changes in chromosome - Euploidy

Fflwrer QUTHSSS5Penerrds/ wWenausenar &easrL_mls:

I) 231D G@Bmev6) LI LD 6T - SImhs allens HTeurnhiser
1) QFev FauTFID - ool GL_rdsmesrt_Muim
I1I) DEVST LOHMILD LYEHEDF - srGeuTewLIL_(Hs6iT

IV) GCrrCurGmribasir sTawrenilhbendsuilsy LrMILITH HewL_G60 - wylieriiilg

I,IIL,IV B) LILIII C) ILIILIV D)L, I, 111, IV

4) When a particle moves in a circle with a uniform speed,

S)

A)
B)
C)
D)

A)
B)
C)
D)

Its velocity and acceleration are both constant

Its velocity is constant but the acceleration changes

Its acceleration is constant but the velocity changes

Its velocity and acceleration both change

ULl L LiLimenguiled Frrer CousdgiL 6T Gisb6r speitm) GlFsLeYbGBLITG)
9567 FlewFGeus b LHMID LPBHSSHLD YBlw @) TenT(RID TMTE)
956 HlewFGeusmsd LLTMTG YeTTeV (LP(H&hSHLD LOTM)LD

96T (LP(HEHBLD LOTMHTF YevTTeD FHlewaF@eausksid Lommb

96T FlewFCeumspid LPHEHSHLPLD LOTMILIHILD

A railway engine, which is moving towards the platform with a speed of 20 km/hr, blows a

whistle of frequency 320Hz, The apparent frequency of sound heard by a stationary person
on the platform will be

A)
B)
C)
D)

Greather than 320 Hz
Equal to 320 Hz

Zero

Less than 320 Hz
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ARUL IAS ACADEMY

A)
B)
Q)

pewL_GenL_enw ChraHsl 9 HlT6leusdt Gl&TeanT 2arge) sargld GlasreasnTh euhLd GoemL_uilsy
BlesTmids Qe reist(h) spheui CHL @b CHThHm SiCleusssr
320 Hz ailL_ o glswm@ib
320 Hz %@ Fwib 9@

SFPWITEGLD

D) 320 Hz e&flL. gswpeur@id

6) Choose which is incorrectly matched:

A)
B)
C)

D)

A)
B)
C)

D)

Surface tension- Nm—*
Linear density- Kg m—2
Angular Velocity-¥ads=?

Pressure- INmm~=

£1p @PIIULiu’ L _eweusaflsy Heummrest el 615?
urdiy @ uellens - Bluyl L edr B L

Ber LiTh#) HBeor Hyrip L *

Caremrsglews Geusmsid  Griguisr eflesma.

- - —2
Slpdgio- Bupt s B

7) The acceleration due to gravity at the centre of the earth is

A)
B)
C)

Equal to zero
Less than 9.8 m/s”"2
Equal to 9.8 m/s"2

D) Greater than 9.8 m/s"2

A)
B)
C)

yiluilesr emwow Lin@glulled yell ity wpBHSsdBler I
H1 S & @ FLOLD

9.8 m/s"2 &@ Gewmey

9.8 m/s"2 &@ Fwib

D) 9.8 m/s"2 -eww allL gFlsbd

8) In the digestion carbohydrates, the following sugars are converted to their simplest form

A)

A)

D) Starch - Maltose + Isomaltose

1) Maltose-->Glucose

I11) Lactose---> Maltose

IV) Sucrose---> Glucose + Fructose

Which one is/are correct?

I alone B) IL,III C) ILIILIV D) LI, IV
STTICUTeanL Gy "CFflwTarssley ' FPoHsHTamid FEHHEMTUCLTHL ST jeummledr sTerflul
QUIGEUBIGETTS LOTHMLILIBSS6T D 6vT

D) oL rirg-=> re@Lmre + gmGaFrwmevl GLmew
1) meVL_GL mer --=2 & ee1hd B men
II1) OTEHL_CLmer -2 meVL_GL_men

V) &#&ECrme -2 @eohdCarerv+LrdGL Ter
615 [eTemeu &Fifl?

1 ot @b B) IL,III C)ILIIL, IV D) LILIV
9) Match the following :
List L. List II
a) Telophase 1.Chromatids separate and move towards poles
b) Metaphase 2.spindle fibres disappears
c) Anaphase 3.nuclear membrane disappears
d) Prophase 4.chromosomes at the equatorial plane

GS1902
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 2-2017

A)
B)
C)
D)

10)

A)
B)
C)
D)

11)
A)
B)
C)
D)

A)
B)
C)
D)

12)

uligwed I o 1 61 II o1t QuUTrhSSHI%
a) 1eGevr FBlewev 1.CrrGuriigser Lflgs simousbend ChTdhd B dlesrmevr
b) Guwi L Blensv 2. ewLilsiTig 60 @)ewLpSsiT ewM B! allHE DS
C) C. yeurT Hlewev 3.Blyseflwev 2 _enr wewmw S ribLilEE g
d) d. 4Gy Blewsv 4.5CrrCuwrGsmibser swwliL@Ggullsy srewt LiLBSIDS
a3,b4,c1,d2
a3,b4,c2,d1
a2,b4,c1,d3
a2,bl,c4,d3

What is not a file system?
H1&HHTLuDHM6V , 615 Cariiswu GlFiienio SlewL_wiTg)?
FAT32
NEFT
NTFS
EXT2/3

The difference between memory and storage is that memory is __ and storageis__ ?
temporary, permanent
permanent, temporary
slow,fast
static,dynamic
BlewesTeussLd HMID CFLOILIGEFesT CoumiLImL_Tesrd| ,BleneTeudid 6TeTLIG| _ LoMHMILD
GauflliLsIb eTedTLIg _ P
SN EBTEOHLDTEUT S, [B6»6VWI T6IT )
BleW6VWITEIT |, 1 M0 LD T6vT G

Gl glouTaTs|,allen ol Tearg)
LT TBlew6L, () wihi & Blew v

The Universal Serial Bus(USB) standard enables upto devices to be connected to a

personal computer.

A)
B)
C)
D)

13)

& 6uvt] 6o ufleL smailsewer @lementss USB Carilur@® 2 geyb
130
128
150
127

Mr.X wants to establish a broadband wireless net connection for his employers spread

over a radius of 30kms. The wireless standard he needs to impart to them is

A)
B)
C)
D)

A)
B)
C)
D)

IEEE. 802.15

Li-fi

IEEE 802:16

IEEE 802.11

30 &l b riuridley flbgr Geuswsv ClFuiwid Hevrgl LssilwTer(hd @ Hmeueri X
svliLlewL Carent &ibLlg Gl rUllilsveor susmevsd GlgTLTLlewer 9ewindas allHoyspri
@)eui jeuimHEHdHFH S Couswwrigw HiLlG GTLiLlLlsveLT aueweVS CGTL T HTLD 6T6dT6T P
IEEE 802.15

Li-fi

IEEE 802.16

IEEE 802.11
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 2-2017
14) Match list [ with List II

a) AF 1.Tundra

b) S 2.desert

c) BW 3.steppe

d) ET 4.Humid

a) AF 1.grhslrm

b) S 2. LT emEVEIITLD
c) BW 3.en@ L1l

d) AF 4 ./ LDERTL_6VLD

A) a3,b4,c2,d1
B) a4,b3,c1,d2
C) al,b2,c3,d4
D) a4,b3,c2,d1

15) The Western Ghats enters the tamilnadu state through the _ district and runs up to
_ district?
A) Nilgris, Thirunelveli
B) Nilgris, Theni
C) Nilgris, Kanyakumari
D) Coimbatore,Kanyakumari
S0P BT igev Cop@s CBTLTFSF wewev __omeul L b euiflird hiewphgl_ euewr b evot (b
ureilujsrearg?
A) Bevdlifl, Fm6mevECeued
B) Sevdlif ,Cspevf]
C) Bevdlifl , sesresflwm@Lomif]
D) Gasmwibydgri, Hesrevtlwim@Lomi]

16) Which of the following is NOT correct?
I) City of Tiruppur is known as Textile capital of Tamil Nadu
II) SIPCOT was established in the year 1972
III) All India Radio- 1936
A) 1 B) II C)III D)LILIII
&1 P’ eweusafled seumresr emeu 61 ?
) Swliyi pasrid SO BT qesr GlBFey SeweLBSHTLOTSE ALl GLwir GunHm)sTerg)
II) SIPCOT- 1972 v QarLmisinl L g)
III) o &ev @) BFlweurclermsd- 1936

A) 1 B)II O)IlI D)LILIII
17) MATCH THE FOLLOWING:
a) -Roco - i) India
b) Bewar -ii) Central America
c) Milpa -iii) Brazil
a) Crr&sGsr -i) @bFwr
b). Gleumri -1i) wsFHlw CIwfs T
c) uflevour -iii) NGrdlsv

A) "a-i,b-ii, c-iii
B) a-iii,b-i,c-ii
C) a-iii,b-ii,c-i
D) a-i,b-iii,c-ii

o ' | GS1902
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 2-2017
18) Find out the correct Match/es:

I) Richter Scale - Intensity (1 to 10)
II) Mercauli Scale - Intensity (1 to 12)
III) Distance between earth and moon -3,84,401 Km
IV) Lunar 3 - 1959

Fflwrer QUTHSSS5Sewesrds/ WenausenaT ST 1% :
) A& eremeu - 9erey(1 to 10)
II) Quised oeremeu - gjerey(1 to 12)

I) ylsED FHHlrends@Hn @ewL_Gw 2 drer grriv- 3,84,401Km
IV) ormmic 3 - 1959
A) LILIII B) ILIILIV C)LILIV D) LIIL,IV

19) Which of the following is NOT correct?

I) Monolithic Rathas - Mamallapuram
II) Kailasanatha Temple - Kanchipuram
III) Virattaneswara Temple - Gudimallam
IV) Parasuramesvarar Temple- Tiruttani
£1p @YU Ou’ L eweusafley seumresr sweu 61
) sphewmdaHeL rHID - LOTLD6VEVLYTLD
II) ewsevreprsi Casrailsy - &STEHFYTLD
III) efyri L rGergeuri Gsreailsy - @lg sV6VLD
IV) ugagrrGueveuri - &) (15> & 6vT]
A) LILIILIV B)ILIV C)LII D)IILIV
20) Arrange the events in ascending order:

i) Individual Civil Dis obedience movement

i) Cripps mission

iii) Quit India Mission

iv) Wavell Plan

F1p HeTLunewm eJmi euflewFuilsy euflewals LIBHSS5%

i) seofl pui F L wm i @uidssib

ii) Hr1600 GG &1

iii) GeusiremearuiGer GleuefGuim @)uwidhs51b

iv) Geueusd Fl' L b
A) 1,2,3,4
B) 2,1,3,4
C) 4,3,2,1
D) 4,2,3,1

21) Deccan Education society was founded by
SHEHTOIH HeVF Fhisdhend 67 DLIHGS weui
A) Bal gangadhar Tilak LTS BISTSHT HlevdiT
B).. Gopal krishna Gokhale Garumsv #lpegemnr GahmraGsv
C)'D.KKarve 13 G &riGeu
D) None @)euias@ensit sTouhLilsVemsv

22) Match The following:
a) Rajendra chola I - 1) Brahma Giri
b) Karavel - 2) Allahabad
c) Ashoka - 3) Hathi Kumbha
d) Samudra Gupta - 4) Malpadi

o ' | GS1902
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A)
B)
C)
D)

23)
A)
B)
C)
D)

A)
B)
C)
D)

24)

A)
B)
C)
D)

25)

A)
B)
C)
D)

26)
A)
B)
C)
D)

A)
B)
C)
D)

a) ysevrd BrrCmhdlr Cemrpesr  -1) LNyibiogf

GROUP 1 PRE MODEL 2-2017

b) &rrGeusvir -2) QevsTUTS

c) CFrsmi -3) anglGur

d) swsHIr@lsit -4) wrevumig

a2,b4,c3,d1

a3,bl,c2,d4

a4,b3,c1,d2

al,b2,c4,d3

Which of the following is correctly matched?

Champran - Punjab

Kheda - Uttar Pradesh

Bardoli - Gujarat

Dandi - Bihar

Flwrs QuTmbslujeTers 6Tg ?

FTLDLITT63T -LIEHFTLI

Casgr - 2 SBrUilrGsaid

uirGgmrerf - B2QUTS

SHEBITLY - fanri

Match the following

a) Tattvabodhini Sabha - 1. Henry vivian derozio
b) Young bengal Movement -2. Vishnu shastri pandit
c) Widow remarriage society -3. Veeresalingam

d) Hitakarini Samajam -4. Devendranath. Tagore
a) ssg10uCUTHlerf] FewL -1. Qamery] efailwisir C5CrmedlGuwir
b) @erb suBkisTar @)UIdBHLD -2. efleigemy Frevslifl LisssTig L
C) allgeneu LOMILOENT FBISHLD -3. af Craedltisid

d) angrarief Fwreib -4, CaCoudbTBTS STIn i
A4,b1,c2,d3

A4,b3,c3,d1

A3,b4,c1,d2

A2,b1,c4,d3

The Indian National Association formed in Calcutta by whom among the following?
@bglw CaAwr gn ' L_ewLOLIL] WTTT6V HVHSHTAI) 2 (HOUTEHBLILIL L F|?

Dwarkanath Tagore gseurrserrs &mram i
Surendranath Banerjee #Grpglrmbrsg umerigs)
Prasanno Kumar Tagore Liygsrer @uri sram i
Debendranath Tagore CsGeubSrbrd &mdn i

Which of the following is NOT correct?
Delhi : Bakht Khan
Mathura : Devi Singh
Meerut : Liagat Ali
Gwalior : Tantya Tope
&1 GOILULbul 1L epeuseafle Haumrer eneu 6% ?
Flevell: Lidd &redr
wairm: Cahail Fmi
ol wrss e

@ouredlwi: srerwm G mel

GS1902
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 2-2017
27) Who among the following was the author of Anand Math?
A) Bankim Chandra Chatterjee
B) Ravindranath Tagore
C) Raja Ram Mohan Roy
D) Bal Gangadhar Tilak
Y eVThS 0TS A ilwii wimi?
A) usdib FHFT FUL el
B) refhasrbrs sram i
C) preom yrib Guomasesr grmil
D) urev sBISTHT HlevaT

28) On which among the following dates, the Gandhi-Irwin Pact was signed?
A) 5 March 1931
B) 6 March 1941
C) 4 March 1931
D) 15 March 1931
Ulsitoupd _ Ca8l, smhHHl-@)iailsr spliLibsid end o6l (1S5S Tevrg?
A) 5 wmrig 1931
B) 6 wrig 1941
C) 4 wmrig 1931
D) 15 wmrig 1931

29) Who among the following presided the Karachi session of Indian National Congress in
19317
A) Sardar Vallabhbhai Patel
B) Pandit Jawaharlal Nehru
C) Pandit Madan Mohan Malaviya
D) Dr. M A Ansari
1931 9y 1b e @) bslw CHFAw STBIS TV HTTEFF YT HEWVEWLD &M MBI Wieui?
A) Figmi susvevumis LGL eV
B) wuewriys geusievmsv G
C) wewrigl wgHer Gomrsest wrerailwm

D) Lm&Lii. eTiD 67 jedraFmif]

30) Who among the following presided over the Surat Session of Indian National Congress in
19077

A) Dadabhai Naoroji
B) Gopal krishna Gokhale
C) Pandit Madan Mohan Malaviya
D) Ras Bihari Ghosh
1907 9410 o1 @) bBlw CHAw STHRIK TNV @IS TBTL LGN E HEWVEMLD B GHTH Wi ?
A). sraTiril psuGrmes]
B) Camiirev &megent CxmasGsv
C). uewrigl gesr Corgesr wrerailuim

D) e Llammf Gareg

31) If the mean of four observations is 20 and when a constant C is added to each
observation, the mean becomes 22 and when a constant C is added to each observation, the
mean becomes 22.Find the value of C

4 stavsefler grmam] 20 ereirss. speuiGloum(m sTavdram L 651 C ewids gn L 1 6UTTEV FSleWL_d5 (LD
srevrseiflesr Frmam) 22 eresfle C 6b1 FIL) HT6wOTSH
A) 2 B) -2 C)6 D) 4

o GS1902
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 2-2017

32) If each entry in a data is divided by 10 find the change in their arithmetic mean?
A) multiplied by 10
B) does not change
C) is divided by 10
D) Is decreased by 10
CasrHHsLiLL (HsTer ssubleaurm Lsitafl allurBisenarujd 109,60 au@Gs gl SlewL @ Lglw
yeiref] ellurkisseflesr g HdF FrrFflumeT sTeusurm| omrmb?
A) 109,60 OlL(BHSHSLILILG (HELD
B) ergib wrHmidlsvemev
C) 109460 eu@HdbsLiLL g (Hd @D
D) 1060 @ewmeaLiLiL i (Hdh@LD

33) The difference between simple interest and compound interest for two.years on a sum of

money lent at 4% is Rs 4.80. Find the Sum
R OB5TewEHEHG 4% aul' 1y 6F51D @)TevT(H YTHSH6fl6L SlewL_d @D dn " (H) Ul 198 GLD Hevfl
ULl 19&5 &L 2 srer allsSlwrFd H.4.80 eresflel 9501 TMHW W & T6vTSH
A) Rs.120
B) Rs.3,000
C) Rs.3,010
D) Rs.768

34) A rectangular piece of paper has length 14 cm and breath 10/micm.A cylinder is formed

by one rollingbof the paper along its length.Then volume of the cylinder is.
sp(h GFsueuss aulgeu Hreflesr Hard 14N6F. 16, 9sevid 10/TC .16 HTarTerrg) BHoarddler suflGur sp(m

pewM F(HL_L_LILI(HeUSEIT CLPsVLD 6p(1h 2 (HEWET 2 (HUTSHBLILIL L T6D S(6U2_(hHewemuiledr HevT j6mey
wrg?

A) 980 cc(s.Q&.15)
B) 1969cc(s.0#..5)
C) 1400cc(s.60#.15)
D) 490cc(s.0#.15)

35) 50 circular plates each of radius 7cm and thickness 1/2 cm are placed one above

another to form a solid right circular cylinder. What is the total surface area of the cylinder
so formed?

7,05 .16 gyrapid 1/26#.16 serpd Gasmenr SO sul Lauigen S (H%6T TDTES HHHBLILL (B
2@ S Crreul L oo mewer 2 (Hheurslujsrerg).3)bs 2 Heweruilsst Crss LpuTLliLeTe) wrg)?

A) 1230cm square

B) 1332 cm square
C) 1408 cm square
D) /1560 cm square

36) . A drain cover is made from a square metal plate of side 40cm having 70 circular holes of

diameter 1 cm each drilled in it.find the area of the cover.
4007.16 UGS psiTar sph FGIT 2 CevTad HL 1960 16F.15 el L_wperer 70 sul’ LG giswersmssr
@)Lt B e sTeveumil ciply GFwILBSE DG 6Tesfle0 9bS cLpLguiledT LITLIeNLId & TesT

A) 1380cm square
B) 1545cm square
C) 1655cm square
D) 1820cm square

37)

At simple interest Rs.1,000becomes Rs.1,150 in 3years. If the interest rate is increased by
3%then the total amount is
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2m GOILUIL L seflaul’ g allgsgle 3@ seaflsy cm 1,000,615 ep 1,1509,85Ing1. 3%am (HsevTs
aul g @ pLiileir, sHCUTemHW CTeHS S

A) 1,400
B) 1,300
C) 1,410
D) 1,249

38)

A)
B)
C)

If 18%o0f the total number of orange in a basket is 36 .Then the total number of orange is
P (M FnewL_UleD 2 _eiTer CoTSHS Y TEHd LpmIGeTsy 18% oy erg 36 stesflsy CloTsHLpsTer QLT EHar
LILPBIS 6] 63T 6TevoT635T1d56M 3

100

150

200

D) 300

39)

The ratio of the price of two cows was 23:Two year later the price of the first cow rises by

Rs.477 and that of the second by 10% and the ratio of their prices became 20:11.find the
original prices.

A)
B)
C)
D)

40)

@)ret® wrBHseflsr allswsv alldlgwrearg 23:16 @)reasr®h o, arhSBEHS G UDG .1pDHeL L 16T
allewev cHUTIAT -8 2 wWihgl wHMID G)renri_Teug) wri_iger allswsv 1L0%e2 wibg.sHEUTS
allsnsvuilsir ail#lswrerg 20:11 9@ h.2_awenw allsnsvswiwt &Tasrs.

Rs.1,219,Rs.848

Rs.1,218,Rs.848

Rs.1,210,Rs.850

Rs.1,219,Rs.840

A ladder of 25ft length reaches a window which is 24ft above the ground level on one side

of the street. Keeping it's foot at the same point the ladder is turned the other side of the
street and now reaches a window of 7ft high. Then the wide of the street

A)
B)
C)
D)

41)
A)
B)
C)
D)

42)

2 COsmailsy Blmissriul Bsirer 25 iy BHarwpster syenfl sewrol L 5H5e0HbgH 24 iy 2 wigpsier
FOTRTEMVS O1GTHFH MBI, Ilgew il LTHDTLOEY jseTenflewil FHIPMHM 9565 HalleT MmILIGEHS S IsTear
FETRTENEV 791y 2 W TdHFe0 GG THSIMGI 6T6vTl6D 5 6)% (Hailedr 9 H6VLD.

30

32

29

31

If the radius.of a circle is doubled ,area is multiplied by?
§2(h ULLL GF6dT QLD @)(HLOL MHIGTETT6V,H(H6dT LITLILIeTeney _ 960 GlLihdheE Ceusssr(hd
3

2
4
8

A'square and a rectangle have equal areas .If their perimeters are P1 and P2 respectively

then.

A)
B)
C)
D)

R(H FHITID LoHMID ClFINSSF6T LITLILIOTE%ET FLo1D. 9 euMMleT FHmereyssT pewmGuw Plwmmin P2
6T6dfl6D

P1<P2

P1=P2

P1>P2

P1>_P2
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43) A and B are brothers,C and D are brothers. A's son is D's brother, how is B related to C?
A) Father
B) Brother
C) Grand Father
D) Uncle
Auib B wio C DeGararissr. A- wewLw waer D-ujer #FGasrsreir,stesflsy C-d@ B stsiresr 2_mey?
A) gliur
B) #Gasraresr
C) srism

D) wmrwr

44) What will be the compound interest on a sum of Rs 25,000 after 3 years at the rate 12p.c
per annum?
5.25,000-6@ 3aupLmi%enhsE st 12%ea11 19 6f5iD SlewL_& @b gnl’ B Lty T (HldE)?
A) Rs 20,000
B) Rs 12,800.20
C) Rs 10,123.20
D) Rs 10,000

45) Find the greatest number of four digit which is divisible by 15,25,40 and 75
15,25,40 wpmitd 75960 6u@GUL &dn 19 LBCILIH BT6TE, @6V eTevurenewt %er(HLillg
A) 9,000
B) 9,400
C) 9,00
D) 9,800

46) How many numbers from 1 to 100 are there each of which is not only exactly divisible by
4 but also has 4 as a digit
1 e9mba1 100-suswy 2 _sirar stawr H6rlsD 4-960 al@L(BHH6V L (HLsVEVTLOEV 4-80 )6V LTS5 6 LD
OB TEUITL_ 6TEUTH6IT 6T H6W6VT 2
A) 7
B) 14
C) 21
D) 10

47) How many points will be on the face oppos1te to in face which contains 2 points?
2 yereflser Glasmevig 51 560 614 pHLD LEF| 6T BT L6636 () (d> LD ?

A) 1
B)5
Q)4
D)6

48) 5+11+17+.....+ 95=?
A) 200
B) 400
C) 600
D) 800

49) The next number in the series

' GsS1902

[Turn over



ARUL IAS ACADEMY GROUP 1 PRE MODEL 2-2017
16,13,17,12,18,11,19,10__ stetimp OQariled BHS5 2 muriy?
A) 9
B) 14
C) 13
D) 20

50) C,G,L,R_ ?
A) W
B) T
Q) V
D) Y

51)

e,

52)
3 o T
11 13 17
19 x 29
xenwfloy  x is equal to :
'(A}_I- 25 (B) 21 (C) 22 (D 23
53) |
The HCF of x? —6x+9, x° - 27 is
x* - 6x +9 wpmib x* - 27 -an BLQuEs Gung) smre
A) x+3
B) x*-3
C) 12 -9
D) x-9
54)
025 36x49 _
Th&'.vaiue of 144 * 625 .
[025 36x49 . o
V144~ 6.25 ooy
A) 0.7
B) 0.9
C) 0.6
D) 0.8
o GS1902
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55) Which of the following mimics cholera in its manifestation?
A) Arsenic poisioning
B) lead poisioning
C) copper poisioning
D) mercury poisioning
LiletTeumeuesTeummIeT 615 B|SH6dT GlFwedLITL 196D STeVTTeney CLITETM| 2 6iTerd) ?
A) g ifefls pa
B) Qevl poa
C) sriur pés

D) Quwigf pda

56) In atom bomb the element that is used is
DT G6WT1 60 LWSTLBSSLIBILD S6oflLoLd

Q) U™ ®B) LU
I:C} gzUm - _ v a . o 1287
57) Match the following: -
a. Copper glance 1.Chloride ore
b. Willemite 2.sulphide ore
c. Horn silver 3.silicate ore
d. Zincite 4.oxide ore
AN GEENES
a. srliuir $lermeiren 1.&Cerrenr(h) T8I
b. aflsvedlemior” 2.50mU®0) ST
C. ammier Fsveur 3.A0ICx LTS
d. Akiews 4.9 50F(0H) ST
A) 3412
B) 3214
C) 2314
D) 4132
58) A‘current was passed on series through a solution of a salt of a metal X and a

solution of ZnSO4,platinum electrodes being used. After a certain time,0.3480g Of metal X
and 1.264g of Zn has been deposited.The equivalent weight of metal X is__ (Eq.wt of
Zn=32.7g/eq)

X etstip 2 Geuns5sler 2 Lid sewrFsv whHmib ZnSO4 senraevssr o(h euflewFuilsy o sirer Guirg),
Uerm_ g eorid Llledsreumiiiser LweTLBSS leraTrid QFaSsLiLBHFEmGI.h GDILIL L STevdhdnH@ LTy
0.3480 slymib stewL_ujsirer 2_GevrsbX whmid 1.264&5mib sTewL_wjsTerZn Lilg 560 HewL_FSmgl. 6TevflsL
2 GeuraibX 61 FLomest 6TewL FIY_ (Zn et Fomest stewL 32.7 &)/ FLomevtid)

A) 18

B) 9

C) 27

D) 36

59) Public Distribution System(PDS) is operated under the responsibility of the:
Qurg allBlCurss S b (PDS) Qurmtisnu __ &ip pLgasliul @ sumdng)
1.Central Government wgglw s

2.State Governments wrplev ra
A. Only 1 B) Only 2 C)Both 1 and 2 D) Neither 1 nor 2

o ' GS1902
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60) When did the Government present Kisan Credit Card Scheme? 9jra fsrer sL_er 9 ewi_
S L1 etiBuTg QBT hisluig?

A) April 1853 erlige 1853
B) August 1998 gpsevl 1998
C) July 1991 wdswev 1991
D) November 1995 meutbuir 1995

61) Match the following.
YEAR MODEL
i. 3rd FYP a. John Sandy and Chakravarty
ii. 4th FYP b. Allen Manne and Ashok Rudra
iii. Sth FYP c. Planning Commission
iv. 6th FYP d. Planning Commission with emphasis on Structural change.
,63T(H  LOTL_6V
(FYP- spbgmewr(® &L 1b)
i. 3rd FYP a. QTET FTevTly LMMILD FhTeauisD
ii. 4th FYP b. @yeveir weTGesr HMID HCFTEH (HGT
iii. S5th FYP C. Sl L & siflageir
iv. 6th FYP d. sl Lewwiiy wrHp S L& siblager suedlujnidgsv
A) i-a, ii-b, iii-c, iv-d
B) i-c, ii-b, iii-a, iv-d
C) i-b, ii-c, iii-a, iv-d
D) i-a, ii-c, iii-d, iv-b

62) What is the main objective of the 12th FIVE YEAR PLAN ?
126ug) 2pb5TeT® S L SF60 1pdhaslis CBTesLD 6T6dT6vr 2
A) Faster and inclusive growth
B) Faster and sustainable growth
C) Inclusive and sustainable growth
D) Faster, sustainable and more inclusive growth

63) National Rural Development Institute is situated at ?
A) Patna B)Shimla C. Hyderabad D. New Delhi

CaAw 2args Guobur (h) Blmieuerio/ _ oewibgisiTend?
A) urlerm B) Aevrr C) swamGgrrursg D) yg Flevedl

64) The New Symbol of Indian Rupee is a blend of ?

A. Devanagiri Ra B. Roman R C. Devanagiri Ra and Roman D. None of these
@blw eHLITL LS W FGSTETID 69 () HeveweuwI T &L ?

A) Gaeuprait] r B) Grmwesr oy i C) Csouprafl 5 wHmyb Crmwesr D)@eummlsv stgia|iflsvemsv

65) . Corporate Tax is Levied by
A) " State Government
B) Central Government
C) Both A and B
D) None Of The Above
wimieuert euifl eilFls@ 9ra_?
A) wrElev ora
B) wssw e
C) A wmmio B
D) @aummlev stgia)dlsvensv
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66) which of the following is not correctly matched?
Ulsiteumeussteumpled Flwima GlLUmhhseailsvensv?
A) MO - Reserve Money flisu Liswrid
B) M1 - Narrow Money @mid&lw Liswtid
C) M3 - Broad Money oj&esitp Liswrid
D) M4 - cheap Money weSleumrest LigsTid
67) The World Braille Day (WBD) is observed on which date?
A. January 3
B. January 5
C. January 2
D. January 4
2 ews UlErullev mrer (WBD) Cagluilsv eniaFflssiiLBSna?
A. mereufl 3
B. smereufl 5
C. gevreuifl 2
D. gmereurfl 4
68) Who has been appointed as the new chairman of the Union Public Service Commission
(UPSC)?
A. S R Hashim
B. Deepak Gupta

C.

Alka Sirohi

D. David Syiemlieh
wyesflwedr Litieflds Fiaisv siflageflesr (). N.eTev.H.) LFlur Seweveurrs  Blwblldasliu’ L eui?

A.
B.
C.
D.

69)

6T610 QT LD
Suds GHUST
Sv&T ACrTan)
GLall’ Auiliblifler

Who is the new Chief of the Army Staff (COAS) of the Indian Army?

A. Vikram Singh Rathore
B. Bipin Rawat

C. Velu Nair

D.Birender Singh

@bslw @) rremisusgler oarfluir (COAS) sFrmisssletr LFlw semevewid 9 Hlamifl wri?

A. allsri A rs8ami

B. Uliledr rmeug
C. Geusy mrwii
D. 1@yevwsr@i=ir £mi

70)

India’s first transgender school “Sahaj International” has started in which state?

A. Tamil Nadu

B. Kerala
C.Karnataka
D.Andhra Pradesh

@bglurailst pspev " FreuGss Ty " FH(HBHHIHS LisTer -THlVSHI6V O\HTL BISwigh)?
A. gUlpBT®

B. Gasyerm

C. asiprLs

D. gpslr tyGssid
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71) Who of the following have been chosen for the 2016 Navlekhan Award of Bharatiya

Jnanpith?

A. Yogita Yadav and Arunabh Saurav

B. Om Naagar and Tasneem Khan

C. Shraddha and Ghyansham Kumar Devansh

D. Amlendu Tiwari and Balram Kawant

2016, praiGuyser urrgw epreriT allhgisE Ustaumb wri Cspie) GlFuwwliLl (HsTereT?

A. CurdsT wrgsy LHMILD ) HEWTLI F6Teu

B. @b pra&i wphmih sevefLflsy &mesr

C. srgsm wHMID SweTasTd Gri CheausiTeq

D. o ulGereistgy Sleurif] wHmib LILTTLD HeuewsrL

72) Who has won the 2016 World Blitz Chess Championship?

A. Sergey Karjakin

B. Anna Muzychuk

C. Magnus Carlsen

D.Daniil Dubov

2016-sv 2 o5 Lilafli sl GlFew FriblweTafl’ Ul L Semg Gleustori wri?

ClFTel] &gy Tt
S| GIITEWTT CLPSUIFFr s
GLo&euTerV HITi6VF6sT

CL_evflsv &CLimey

oo P

73) Who has been appointed as the new Executive Director (ED) of Reserve Bank of India
(RBI)?
A. Deepa Mailk
B. Rajeswar Rao
C. Surekha Marandi
D.U S Paliwal

@bFlw fFiey eumidluilesr Yl Blieurs @) wd@ert wri?

a. Sum wredld
b. rr@megeui yreu
c. &Gra&m wyresnTy
d. uj etev LiLfleusd
74) What is the theme of the 2017 New Delhi World Book Fair (NDWBF)?
2017 4z Sleved] 2 V% LSS HewTaTL Fullelr & MHGg sTevTerr P
A. Vivid Bharat - Diverse India
B. Manushi - Books Written on and by Women
C. Kathasagara - Celebrating Books Children’s Literature
D. Suryodaya - Emerging voices from North East India

75) _Which international organization has declared 2017 as the “International Year of
Sustainable Tourism for Development”?
A.World Trade Organization (WTO)
B. United Nations (UN)
C.International Monetary Fund (IMF)
D.Asian Development Bank (ADB)
6Ths FireuGse Hewwliy 2017eww CueanTsGBlewsy FHmVT YL ma  LrsL erd GlFuiglsrerg P
A. 2 3 auigss gewwiiy (WTO)
B. @m&slw pr@pser (UN)
C. #ieuGg& prewrw Blgluwin (IMF)

o | GS1902
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D. gy flw susniirg4 sumid) (ADB)

76) The Nobel Prize Series India 2017 has recently started in which state?
A) Maharashtra

B) Assam

C) Gujarat

D) Punjab

2017@mrusy ufla QBT T FIBLSHV FhHwTailsy_ wrplevsslsd GHTL_misluig?

A) bE&TTTeIGIGTT
B) ojFmid

C) oe2rms
D) ueperdl

77) Surya Kiran-X” the Indo-Nepal Joint Military Exercise has started in'which city?
A) Sal j handi, Nepal
B) Kutch, Gujarat
C) Jaisalmer, Rajasthan
D) Pithoragarh, Uttarakhand
GTwm Slymresr-srden "@Q)bCHT-ChUTeL ol (B @) rremisu LwinHFeww 6Thd HHTHH L O\HTL BIK WGP
A) grev J amewnrig, GBLITED
B) s &, gmrrs
C) QeiiaTsvioi, FregervgTesT
D) NsG8asrrrai, 2 S5THevrL_

78) Which of the following is not correctly matched :

A.New President of Nicaragua - Daniel Ortega
B.New President of Ghana - John F. Kennedy
C.New Chief Justice of India -J S Khehar

D.New Prime Minister of Romania - Serin Grindeanu
&1 GMIOUL il L eneuseafls saumrest sweu 6187

A. plargeur-ailer yslw gerTdlLidg - GLesflwe pirGLar
B. srerm-aller Lglw emerTglusg - eomedt 6711 GlsedTeRTIg
C. @Qpgw-allstt yHw semsvemio 6Bl - Gg sTov CoHam i

D. mGusflumr-eailssr ygw LNygLoi - QFriflesr SN b6 Hem)

79) Digital Dakiya” scheme has been launched in which state government to encourage
cashless transactions?
A. Madhya Pradesh
B. Rajasthan
C. Odisha
D.Assam
uewiLflevsVT LIflTHMBIST 20rdh@GHalldd "9l L 60 $Tdlw " SIL 1D 6ThHG WTHIV TFTev
QarL_misliul L g?
Adwsgws NrGsaid
B. rreyenvg et
C.puar
D.gFmrip

80) which of the following subject is including in the concurrent list of the constitution of
India?
A.citizenship
B.interstate rivers
C.Trade unions

o ' | GS1902
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D.all India service

CuTgIL L 1qui1edleD 2 _6TeTL lUjsiTer Flewm 61517
A. guyuyfenw

B. wrplevsisendsslen L Guuwrer 9y miser

C. Qagrflmsnisniser

D. 9odlev @bFlw Liewflssir

81) The second administrative Reforms Commission was constituted by the government of
India in the year?
@) reTL_Teug Blieurs FidlHos pewenTid @Q)bSI HTFTHISHSHT6V HWLOHBLILIL L ) 655T(H)
A) 2006
B) 2007
C) 2008
D) 2005

82) The supreme court said that the freedom of speech and explanation is indispensable in a
Democracy ..in which case this verdict was given?
A.Prabhu Dutt V.Union of India
B.Romesh Thapar V.State of Madras
C.Communist party of India (M)V Bharat kumar
D.Lucy V.state of Goa
2 §&F LI g Pl Filiy-dbserm_dullst CuisHflenio whHmib 2 ewrieyflen Hallidss
WlwTsewel. B)bs Ll 6ThD aUPsHend &M]&5HELD?
A.ry 5 V. @)hsSlw orFrhisd
B.GrrGuwesmui V. wg rrev wrplevib
C.CPI (M) V urg@Lori
D.spfl V .Gasmeur wrplevid

83) Who among the following is the pioneer of the theory of neo-realism?
A.Kenneth waltz

B.Hans Morgenthau

C.Barry Buzan

D.Raul Prebish

F1p aupLIaITSHafley LBl 2 aTemLoalTs &HHglH CHTL LTl 1q6T (pedT@TTIquITdS Hlo1pLieui wiri?
A.Q& 601631 6UMTEVETV

B.anreirerv wrisetGsm

C.ooGuifl y&mresr

D.Qremsv G Liew

84) Which of the following institute Curve groups?
A.Political parties
B.AITUC
C.Students association
D.protection of human rights association
F1p6)U(HLIHUSHETIV 6TFH| QUHETE| oL L LD 6TTLILIRSIMS.
Al grfluied &1 FHgeir
B.st 29 19 uj A
C.oT6essTauT &6iT FBIshLD

D.wesflg o flewinsser LTgIsTLiy FhisD

85) Which one of the following amendments provides for 29% of the total proceeds of the
union to the states?
A.80th B)81st C) 82nd D) 83

o GS1902
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F1p aupeusTUNDISL 6ThS FL L Sl(HhS55F, s 6lioTdHs Cg5T @10 HHgH 29% lew s wimiosv
LOTHlVBISEHS G CBT(HES Ceuant(hid sTedrm GUILILIRFSTD G

A.80th (sug &1 L $8)(5551D)
B.81th (sug # L_$3)Ss1D)
C.82th (sug #5855 51D)
D.83th (sug #5855 51D)

86) Which of the following committee of the Parliament in India is not related to financial
matter?

A.public accounts committee

B.committee on Estimate s

C.committee on public undertaking

D.committee on government assurances

Ulsttou b @) bFlw LITTTERHLOTD & (LpHEH6T 6Thd BlF] alleud TrmhisEHL_6oT 6% TL TLenL_Wig SjesTmI?
A.QuUITE H6wTdH @, &L

B.ugdllifhs @

C.QuTgIdHIemM BIMI6U6STHIE E1HL_&ET6vT & (LD

D.9ojrs 2 $575aIT5B1%5EHS5T6r & (L0

87) Which of the following statement about Lok Pal is/are wrong?

i.Lok Pal will pay have the power to investigate an administrative Act done by a minister or
secretary.

ii.Lok Pal can inquire into a complaint of maladministration.

iii.Action taken in a matter affecting the dealing with government of India and any foreign
government.

iv.Grand of honours and awards.

GevmsLTed GDWISS %MHSGHIHafls LilsiT ouhHaussTouHMIST HeunTesTemeu 6T/ 6Temeu?

1. wHSIT 9sLevg CFwevTartleT BliauTs GlFwene ailFrrenswnr ClFiiw CeOTHLTYIS @ Y BISTTLD
2 eor(h.

ii.plreurs FTCs® g OaTHSHSLILL (HeTer LsTewy Ceordsumrsd aflFrflabssvmid

iii. @)hFw SrFrbish wHMID CleueflBrL (b S IFTBISsSHIL 6T THLMILD LILIHSBISDETS & D HaI
allFTf&EHeVTLD.

iv.oflwreng wHmid eilkgiser efliiLg,.
A.,iv

C.i,ii

D.iii,iv

88) Which of the following is not related to NGO's?
A.Civil society organizations
B.citizen associations
C.Non-State actors
D.Public corporations
LilesTeuheuesTeuHmI6T 6Thdb sp6dTM) 6T63T.83].69 & (EHL 6T ClGTL MWL Wig) j6Tm)?
A.@yeoLF Feps BlmIauesThiser.
B. &4 w0&E6T FhISBIS6T
C.9ora-grym GFweOLITL_ L T6iTi g6
D.Qurgd HpsmigseT

o ' | GS1902

[Turn over



ARUL IAS ACADEMY GROUP 1 PRE MODEL 2-2017
89) Which of the following is not correctly matched?
Ueiraumid 1% CBrL_i Fflwrs QuThhsallsvensy ?

A) National Consumer Disputes Redressal Commission (NCDRC) was set up at — 1988
@bgslw CaAw msTCeurt (LFsvassr) @emm iliurenswrwid (NCDRC) s Lswwdsiiul L g- 1988

B) NCDRC headquartered at- New Delhi
NCDRC gemsvswioullL_1b-1g Hlsvedl

C) NCDRC has - 629 District Forums and 35 State Commissions
NCDRC - 629 wreul’ L smggissertd wpmib 35 wrpley siflagesitser 2 srerg)

D) NCDRC head- Chief jusctice of India
NCDRC g6 emeveui - @)bdlw Hewsvenio b FHlLIL

90) “Peace to us is not just a fervent hope; it is emergent necessity” Who told this
statement? wri @)bs Y PlbewE T plesTTi?
A)  Mother Teresa gsitemest Glgrar
B) J Jayalalithaa Gwevellsr
C) Jawaharlal Nehru seusisorsd Gmm
D) Swami Vivekananda seurih ellGeusrerhgi

91) The World Vegan Day is observed on which date?
2 _6V& ewFeu b 6Thp CaHFluiled geiFflabsiiLBSng?
A. November 2
B. November 4
C. November 1
D. November 3

92) Saur Sujala Yojana” has been launched in which state of India?
A. Madhya Pradesh
B. Rajasthan
C. Chhattisgarh
D.Sikkim
"Freui Fgarey Guirgert" @) hluimailsy sThg LoTBlevgley CGTLBISLLIL L g7
A. wgFHwis NrCsaid
B. rreenvgmesr
C. 5550051
D. Asdib

93) Which country will host the 7th session of Conference of Parties (COP7) on tobacco
control?
A. India
B. United States
C.France
D.Nepal

yewsullewsd sLU_HLur®h 7 eugl Sjwiey wrbr(), 6Tbd BTL 1g60 LGSl L g7
As@bglum

B. 9@Quwfsasr

C. Ulyresrenv

D.Gpumev

94) The National Cancer Awareness Day is observed on which date in India?
A. November 8
B. November 7
C. November 5
D.November 6
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@bgluraisy CsAw yDHMICHTI ellfllijenTiey SlaTid 6Ths CHgBlullev HenisFfleHsliLBEnS?
A. peuiburi 8
B. meuibuii 7
C. peubuii 5
D.peuibuiir 6

95) Who will be conferred with the Rashtriya Kalidas Samman for year 2016-17?
A.N. Rajam
B. Anupam Kher
C. Raj Bisaria
D.Banshi Kaul
2016-17 syer@® rregiyflu sTeflgmen FibLomedt -- ulL1b geflsasiiul L g?
A.N.rregib
B. g1 Qai
C.orgy Uaflw
D.ursitag) sey60

96) The 2018 International Competition Network (ICN) annual conference will be hosted by
which country?
A. Portugal
B.India
C.Japan
D.Singapore
2018 #ireuGga Guriig OBl Geurids (GMP) sugLrhbdly wrbm@® e1hs BT 1q6D L SSLILIL 2 6T6end)?
A. Guri&sa6v
B. @pgwr
C. gptiumesr
D. Asis iy

97) India’s first-ever Liquefied Natural Gas (LNG) driven bus has been launched in which
state?
A. Kerala
B. Assam
C.Tamil Nadu
D.Karnataka
@)hgwrailsr whevmeusg Hlreu Fuwmens erfleurwy (sTevereired]) epsvid FwdsLLIHL CUhHbHSI 6ThS
LTHlVSF60 ClBML_BIsLILIL L g7
A. Gasrerm
B. 9jFmip
C. silppr®H

D.siprisr

98) The Pradhan Mantri YUVA Yojana has been launched by Union Government for what
purpose?

A) Entrepreneurship

B) Women Education

C) Sports

B) SC/ST Education
Urgrer whdlflujeu CuiTeerr sterest CHTEsSSMBTS WHHlW HTFTeL ClGTL BISLILIL L &P

A) QsTlev (pemerTey

B) Gueisrgsir sevail

C) allemeruim’ () D) SC / ST sevall

o ' | GS1902
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99) The World Science Day for Peace and Development (WSDPD) is observed on which date?
A. November 11
B. November 12
C.November 10
D.November 13

9w woHmid sustidfAssTer (WSDPD) 2 svs ailgheprer Slerid sths Cohzluilsd
N RN BTG\ iy
A. peubui 11
B. peuibusi 12
C. psubui 10
D.peuibui 13

100) The Public Service Broadcasting Day is observed on which date in India?
A. November 9
B. November 15
C.November 12
D.November 14
@bgluraisy GluTgh CFemeu spedlLirliLy BrsiT 6ThH ChSluilsy YeiFflasliLiBHEng?
A. peuibui 9
B. peubui 15
C. paubui 12
D.peubui 14

101) Which of the following statements are true?
L.reptiles are classified based on skull vacuties
II.Amphibians are classified based on jaw suspension
[II.Aquatic mammals belong to family felidea
IV.petromyzon is a jawless animal
A.Il only B.III and IV
Cland Il D.I and 1V
F1PHEMTL_ dn MM SH66V FIfl LI T6eITeW6L 6TEMEU?
.oarieuest wesstewL_ Guim’ iy 6 G Lleyseflsst 9y LitienL_uilsd euewasur® GFiiwliul (heTearsst .
II. @) meurpailssr Seunmler srewL @) enewtliLiler g LitenL_ulled suswsuT(® CFunuliLil (Hererest.
I Fireumpurepri’ 14 &6 0oClLIOIGL & HIDLISMSF FTTHHeMm6
IV.Qul Gyren&msir sp(h SewL_wipHm 2 _ufli]
AT i @i B.III whmitb IV
C.I oy IT D I wpmiioIlV

102) If the F1,phenotypic ratio from a genetic cross is 1:1:1:1 then the genotype of the parents
is
s rulwev sevliilesr Gumrg F1 -6 ym Carmm uskriilesr afl#lsn 1:1:1:1 o485 @) ®HbsTsL
QunHBmriseaflsir 26T ewioLiL] (B)gi6uTEH0D?
A'AABB*AaBb
B.AaBB*Aabb
C.AaBb*aabb
D.Aabb*aabb
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103) Match the following:
a. Vodka Geurilsm 1. Apples gy liflsirser
b. Brandy dlrrigl 2 . Potatoes o pemerddlipmi@
c. Cidar & 3 . Barley urired)
d. Whisky eflsv#l 4 . Grapes glrriens

a-2, b-4,c-1,d- 3

a-1,b- 3,c-2,d- 4

a-3,b- 4,c- 2,d- 1

a-4,b-2,c-3,d- 1

oW

104) The quantity which is not conserved in inelastic collision is
A kinetic energy and linear momentum
B.kinetic energy
C.linear momentum
D.both kinetic energy and angular momentum
Ulsireupeuesreummlsv, L1 Aullsvevr Comgedlsy 6T&| FLOWTEH @) (HEHSHTHI?
A.Qusss Qg nmev HmIb Chi 2 HLd
B.Quds o,mmev
C.Gpi 2_pbgLd
D.Quués 9mmed whHmIh &ipsd 2 hgLb

105) The force acting on a body during a short interval of time is‘called as
A.Torque
B.Moment of force
C.impulse
D.angular momentum
spp Gumrpefler g ABlw @ewL_Gleuaflullsy ChrHHlev,allenFuwiTerg CFwsOLIRL CLITLYLHI HjHewesT
6T6aT S @M mLD.
A. P15 &S me
B.allengullssr $)mLiLdbsmesr
C.allewgullsit sem155T S
D.Gsrewmt 2_sirhgLd

106) Meson was discovered by
A.Crompton
B.Yukawa
C.chadwick
D.Dalton

B Fremest &evr(HLS S 6ui
A . Apribi_esr
B auGsméur
C.arials

D.rrevresr

107) Language family
a) bengali - 1) sino tibetian
b) gondi - 2) austric
c) kachin - 3) indo - european
d) korku -4) dravidian

a) GukisTed 1. £erm-Fl6lLg S wisst
b) Gamrevrig 2. 96019 1M
C) sgdler 3.9)H8sm- Grmiiiwiesr
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d) Gasmirg 4. glyrallL_er
abcd
A) 4231
B) 3412
C) 2314
D) 3142

108) Mrinalini Sarabhai was trained on which of the following dances? Lisreumib 61b5
BLaTBIS6T60 LlTTedles] rpmumis Lulpd QupmTi?
1) Bharatnatyam urgmmiiquiib
2) Kathakali sgé&safl
3) Mohiniyattam Guralesfl o L 1b
4) Kuchipudi @gdduyg
A)1,4B)2,34C)1,23D) 1,2,34

109) The spin quantum number of an electron is
§2(1h 6TEVSL_TTesfl6dT SMaLPMHF FH6UTERTL LD 6T6usTEN 60T LOFILIL)
A.3/2
B.1/2
C.5/2
D.7/2

110) Fiber optics is based on the principle of
A.reflection
B.refraction
C.total internal reflection
D.diffraction
speifl @)eWPHET ___ $5HI0USS W6 I1g LILIeDL_WITHD5 615 TevsTL_g)?
A.etgQrmefliiy
B.ajlevsssv

C.pw 95 stal6lrmafliiy
D.afleflibLy susmerey

111) Approximately ,what is the frequency limit of the optical fiber?
spaifl BTTHHenMHeTerr CHTTTUILTeT P T6leUeNT 6T6VEMEV 6T60T6OT P
A.40GHz
B.100MHz
C.50MHz
D.1MHz

112) The intensity of nuclear radiation is determined by?
A.Geiger Muller counter
B.Betatron
C.cyclotron
D.van de Graff generator
&SIWeHs HslTaTddfler GlFmlemeu jerall L1 LweTURLD &HHail?
A Q&I (LpeLEVIT 6TEHTERvT]
B.flLm_gmesr
C.emasGarmi_gmesr
D.oumresr- 1o -alyris wlssresfluupm)
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113) At what temperature dose a para magnetic substance become diamagnetic?
A.above curie temperature
B.below curie temperature
C .at curie temperature
D.at neel temperature
6Thg OCleulILIGSlL LITTTHTHSL T HOTTETSHl WL WT SThHSL CUT(HETTS LTMIH NP
A swfl Qeuliuggm @ Grosv
B.sufl Geulinggme %1
C .5l Geuligglev
D.Fsd QauriLiggled

114) The resonant frequency of proton is___
YGrmiLmevfledt spS5sp S Gleuein___ oy @ Lb.
A.100GHz
B.100Hz
C.100KHz
D.100MHz

115) Which data communication method is used for sending data in both directions at the
same time?
A. Super duplex
B. simplex
C. Half duplex
D. full duplex
6Th%b HH6U6L CHTL L (pewmuilsy sralleneTt Cr CHrsslev. B)h Lmwpd Hepiiil @uigib?
A. 9 Fls @) Sews
B.pm Slens
C.urd) glens

D.ypw @wm Slevs

116) Who advocated tax on expenditure?
(A) Bimaljalan
(B) N.Kalder
(C) Kenneth Arrow
(D) Paul Samuelson

CFevey aufleww W pHLiILbSSlwieui wri?
A.Nmeveevmedr

B.N.gsrsvLi

C.Ox6imer1d ), G

D.umev & pCeusvaesr

117) A and B together can complete a work in 15 days. B alone can complete the same work in
45 days .+ Then?
(A)A is twice as good workman as B
(B) Bis twice as good workman as A .
(C) A is thrice as good workman as B
(D) B is thrice as good workman as A
A,wpmid BCxihg e Ceuswevewws 15 prisefle Qg wpiglinri.@)8s Causnsvenw gesflirs B,
45 prisefle GFuig) wpigliLmi sTevfled
A. Bavw il A@)(p L_B1@ Bsvev Cauemevdamrir
B. Asww ailL. B@)® oL_61@ hevsv Cauemevdsasmyi
C.Bsww aflL_ A 1pid 1oL_mI@ BeVeY CeuewsVEaHTTIT
D.A s»w aflL. B wpibior_si@ psvev Causmevdasmyi
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118) Three partners A,B,C invest Rs. 36,000, Rs. 45,000 and Rs. 54,000 respectively in a

business. Out of a total profit of Rs. 37,500 C's share is

(A) Rs. 12,500

(B) Rs. 10,000

(C)Rs. 15,000

(D) Rs. 15,500

ABC g alw cpsui LBIGSTTTHeTTS 2_6Tem 6 allwTUTrsslsd jsuiser pswmGu ¢5.36,000, cm.
45,000 wpmiid ¢5.54,000 starmeurm pse8® GFigieTeresti.Crss @svruid ¢5.37,500-60 C -1
LimkI(S,.

A) ep. 12,500

(B) em. 10,000

(C)em. 15,000

(D) em. 15,500

119) Which is the most abundant metal in the Earth’s crust?

A) Aluminium

B) Nickel

C) Iron

D) Silicon

ybluflesr GoGevm () eyrmemiords 2 sirer 2 GeVTaHLD 6157
A) oeiblestluid

B) mlésev

C) Qwioy

D) AeOlsasmresr

120) The Wallace Line is a boundary that separates the ecozones of ?

A) Asia and Europe
B) Europe and Africa
C) Asia and Australia
D) North America and South-America
auTeVe CHT(ha&6iT sTeuailm) HewTL Bssnear LilflabsSlsiTn sp(h 6TeVeWsL () (HoHBIMGHIPA
A) Awr wpmid Crriur
B) eoGumiur wpmid oy riiliflssmr
C) opfwr wHmib ,e0HCredlwm
D) auL 9O wMdssr whHmib Cger 6lwMdbar

121) Assertion :Ramasamy Naicker founded the self Respect Movement in order to promote

rational thinking,self respect, self thinking and self confidence in the people to enjoy social
and political freedom

Reason:To popularise the philosophy of the movement Ramaswamy Naicker worked with the
Indian national Congress

A Both A and R are true and R is the correct explanation of A

B. Both Arand R are true but R is not a correct explanation of A.
C.
D

A is true but R is false.
A'is false but R is true.

Uleireumid surddlwmiseaflsy gnmmi(A) srrenrin(R) @pslwensusemear &mggHlev Q& ret(h, &LpdremiLd

QB TE LIy Hefledhhh 2 BISsT ailswL_snw 65y GlFiis.

I DM w&E 6T LPHEUTEHE Fbsewerr,sw wilwTensg, Fiw Fbsewer LHMID Fw BHLIOLISeNS euaTiLILIgesT
CLPSVLD FLPSH TW-YT T FHHSITHWDH Glum FrwFTd] Briidbdsi Sjeuiser &w wilrens QuEssHem5Hs5
CarmmiailgsTi.
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STIenTD: HWWTWTens B UsHH5BI6T $55015m5F CFWLIHSS P)hIw CHFw &TmiH e _esr
B)ewenTHdh GlFwevLIL LTI

A. A wpmibR oFw @rent@®id sflwrgd wpmid Rersirugy) Aullsit sflwiret aflerdssom @b
B. A wpmib.R gflw @)ressr®id Fflwm@ib .gpermev Reresriigy Aullest #flwmesr aflemdsosvev
C.
D

A sflurgb g erred R s6um) 9),@b
. A sa1m G YerTe R sflwmgid

122) Public-private partnership is emerging as the preferred instrument for the development

A.Infrastructure
B.agricultural
C.industries
D.trade
CuTg Hlewm-setlwmi Fewmulledt o B LUBIG, @)% suaridd SewLw el {HLUiLGF sTn S5
A.slLewwliy
B.Gsuearmessremnio
C.Qgriflevassir
D.auigsa10

123) Which of the following is a land reform measure adopted in India?

A.Abolition of Zamindari system

B.Abolition of Mahalwari system

C.Abolition of Ryotwari system

D.Abolition of land records.

Ulesteumeussteummieir 18 @)bHlwmailst CHesTsrariiLlL BleVEL TS (HHS BL 611G d e Eh6IT
PETMHTGLD?

A. g psTil Ypeom iy

B.uwamsvsurflypenm sl

C.@Qurugeurflgpsnm spiLfliiy

D.5 opeuenthissr spuiliiL]

124) Which of the following groups of rivers have their source of origin in Tibet?

A) Brahmaputra, Ganges and Sutlej
B) Ganges, Sutlej and Yamuna

C) Brahmaputra, Indus and Sutlej
D) Chenab, Ravi.and Sutlej

UleiTou(pid 6Thd pmishsr HlOLgGSlev 9 Hevr LML _Geng Gl ret(hsirend)?

A) UribwysSlrm, skiena Hmib FL6levgm
B) smiens, &L 6levg whHmiib wiwpesrr

C) UmbwysLlrr, Abg whHmid F' Glevgh
D) @Qaermty, rai wpmib F1"6levgn

125) Which of the following groups accounts for over 90 per cent of India's annual coal

production?

A. Bihar, Orissa and West Bengal

B.Bihar, Orissa and Madhya Pradesh

C.Orissa, Madhya Pradesh and Tamil Nadu

D.West Bengal, Madhya Pradesh and Tamil Nadu

Uleireumid sTh% Gy @bslwrallst 90 sx6fs o ew1® BlevsaTl 2 HLSSSHE STTewTLD?
A) Faxrir, flFr wpmib Cum@ sunisd

B) Sarir, spfler, wsslws UrGseip

C) efler, wsHwis NrCsad wHMID SLOPHTH

D) Gum@ sumisid, whHEHwis rCsaid whmitd SLOPHT(H
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Which two committees have been set up to enable the financial business of the

Parliament?

A
B
C
D

127)

(a) The business advisory Committee
(b) The estimates committee
(c) Select Committee
(d) The Public Accounts Committee
6T @)TewT(h) & (LpHH6ET LITTTEHLOGTD SHBH T BlF) FTTHS ONlOGUIBI HEHEBBTH 9 6W LD LILI(H 5 60TM6uT P
a. auisH5% Y GVTFemeT &L
b. wdllTEHssT &
c. Qasfleys &
d. Qurg sewTdEGd &L
. (a). and (b)
. (b) and (c)
. (b) and (d)
. (¢) and (d)

In the legislative procedure, if the cut motion aims to reduce the demand by one rupee

only the motion will be known as

(A) Economy cut

(B) Token cut

(C) Disapproval of Policy cut

(D) Minimum cut

FlLllwhmid pewmulled CoHemeuswi p(h eHLITII &GHeDMM&GHLTMI sp(h Gleul (g HTLomevrid

OB TeRTHeUT Il LTV DG Y GLD

A.QurmerTasry Gleul(®
B.GLrrdaever Gleul_(h

C.0srerems wmiliL) Gleul (K
D.oyss @emmhs Gleul (B

128)
A.
B.
C.
D.

Which Deccan King had the. title of "Abla baba" or "Friend of the poor"?
Quli Qutb Shah

Ibrahim Adil Shah II

Nizam Shah

Ali Adil Shah

6Thd BHSBTET Yrai Hlieor urur () TevL SHetledT Hewruir 6TedTD L L Gewd QlunmhHsTi?

A.&60 @I agr
B.@)lirranlib g0 agr 1l
C.ewpaFrid agr

D.

129)

)01 Ijiq.60 T

What is special about this organisations? British India Association, Poona Sarvajanak

Sabha and India League

(A) Founded by AO. Hume

(B) Fore runners of the Indian National Congress

(C) B.ritish organisations

(D) Revolutionary organisations

F &S BT FhibBIG6TenL Gl &TewriiL(Bd FADLiLIbFLD 6T6sT6oT P
Ufl g 04 @)hSlw FBISLD, LOTT Fieugers Femu LHMID @) bSlw 65
A.A. 0.9 uib Carhmiaissene

B.@)hslw CaFw srmidlyfeir pestGevrmig s eir

C. 9 m1HGevws Fmis%BIS6T

D.

YL F&r FhbisBIser
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130) Double jeopardy is related to which Article of the Indian Constitution?
@riew @Liur® sterLg )b HrHwsvenwliileT sThs allgluileT H1p eumElesTng?
(A) Art. 21(1)
(B) Art. 32(1)
(C) Art.20(2)
(D) Art. 226(2).

131) To suggest methods of change in recruitment, the UPSC appointed in 1974, a Committee
of Recruitment and selection methods under the Chairmanship of
(A) G.D. Khosla
(B) J.C. Shah
(C) R.C. Lahoti
(D) D.S. Kothari
L CFiiy pewpuilsd THUBSSHIUGDHTS spedTmw Glurgiiuewflwmert GgieuTenssmtid, 1974 (b
9} 6uT1q 60 Cpirey HMID " CFILIL @) POTMI WITT HeWeVeWLOUTl6) e»LodHHI?
A.G.DGsragevr
B.J.Cagr
C.R.VewGammig
D.D.SG&rggmifl

132) The legal advisor to the state government is
(A) Attorney General
(B)Advocate General
(C) Auditor General
(D) Comptroller and Auditor General

wrplev o rdleit L o CeorFsi wmi?
A. 9L irevf] GlggevTrev
B.worplev sdl6r semsvemio supdasmlehit
C.opql L Qgevryev
D.sl Grmeri wpmitb yiqL" L i Glgerrsv

133) Which article of the Indian constitution declares that "the elections to the House of people

and to the legislative assembly of every state shall be on the basis of adult suffrage"?

A. Article 146

B. Article 326

C. Article 246

D. Article 126
L& &HETEMaU LOMMILD LOTHISY Y Td CHiHeVH6T auiigenL_GwimTi eurd @ flewi pewm cpsvld C5iH0\sHSS
Gouaisr(Hb 16T uedwmISSHID @)HSw Hrfwevsnioliny ailg erg?
A.aig5'146
B.allg 326
C.allgl 246
D.all$1126

134) Match the following :

(a) NH7 1.Trichy to Tiruvarur glmdd-gmeureni
(b) NH45 2.Pollachi to Dindigul Gumréirermdd-gleser (Hdsaev
(c) NH67 3.Madurai to Tirunelveli wgienr-g o) BHs0Esusd]
(d) NH209 4.Tirchy to Chennai & dd-Cassremnssr

(A)1234

B)3124

3214

D)3412
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135) Match List I with List II and select the correct answer using the codes given below the
lists:
uliquiev I o 1 et L igwisv gy Cur kg s, Ll 1quisvseh% s G 2 606V GlgT L0 (HbgI FifluiTer
allenL_ullenerrd Gsfley CFiis

(a) Distilled water surswesv eu@ b 1) PH 8.5
(b) Vinegar solution eflesflsi sewrasv 2) PH 7.3
(c) Bar soap solution uri Garit sewrgsv 3) PH 7.0
(d) Human blood  wesfls &m®a) 4) PH 2.9

A.2341

B.4321

C.2143

D.3412

136) Match List I with List I and select the correct answ~r using the codes given below the

lists
List L. List II
(a) Chloroplast 1. Kreb's cycle
(b) Ribosome 2. Autolysis
(c) Lysosome 3. Protein synthesis
(d) Mitochondria 4. Photosynthesis
a) @GerTGrmiieTmevl 1.8 sppd
b) ewrGurGsmip 2.9 GL_Temsvdlenv
c) eweCBFrTGaFmid 3.yras5GFiHems
d) ewwl CLrasrewrligflur 4.pefll&FGaidbens

A.4321

B.2341

C.3412

D.4123

137) The percentage of economically active age' group (15-59) ofpopulati?n in Tamil Nadu as
per 2011 census is'
W& 6B Tend Hewrd6lsH iler 2011-6r Lig eumeurs LB suwg (15-59) suribiev 2 sirer

SLOP&E 10 B 66T FHaTHLD

(A) 56

(B)66

(C) 76

(D)86

138) Arrange the following waterfalls of India in descending order based on their elevation.
A.Shivasamudram falls, Jog falls, Killiyur falls, Agaya Gangai falls.
B.Jog falls, Shivasamudram falls., Killiyur falls, Agaya Gangai falls
C:Shivasam udram falls, Jog falls, Agaya Gangai falls, Killiyur falls
D.Jog falls, Shivasamudram falls, Agaya Gangai falls, Killiyur falls

&G OaTRHSasLILL (HeTer @)bhSlw B el pFFEemer o wrnhiser i liLenL_ulled @)mnid,
aIflewFLILI(HSS1%.
A Ffausws T b iefipsdd ,Cors Biafipsd,Sleraflui Bieafipsdl, srw snienss b ialpdds.
B.Gmrs pieTpsd,Aeusgwpsslrid bieTpsd,Sleraflluyi el pdd, o smw sbiens b iraTpsd.
C.Aauswys g Biefipsd,Cord Biafipsd, ysrw snienss b iafpsdd,Serafllu,i biafipsds,
D.Gmrs piefipsd,feauspsslrd mielpsd, g smw sniens Bbiafpdd,Slerafluyi Hieafpsds,
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139) Who wrote .the popular patriotic song, "Sarae Jahan Se Accha'"?
(A) Rabindranath Tagore
(B)Mohammad Igbal
(C) Bankim Chandra Chatterji
(D) Abul Fazl
FT@r mamrer GF YF&FT sTedTn CHFILDHM LUTL_emwev Quipmlwieui wiri?
A.QurilbSlrbrd &rdn i
B.@ypswg @)sLmsd
C.usdlb Fhdlr L gl
D.9jysv urdlsv

140) Which Act is named as Gagging Act?
(A)The Indian Press Act ,
(B) Queens Proclamation
(C) Minto Morley Reform Act
(D)The Vernacular Press Act
6Thp FL L 1D GH&ImI FL_L LD 6TWT HWLPSHSHLILILL )7
A.@Qbglw ugHflobenss FL_L 1b
B.Gurrdfluiler LilrsL_estid
C.0er@L wried FlhdbsF FL L 1b

D.oul Ly uggflsenssd FL L 1b

141) Match the following and Choose .the correct answer from the codes given below

(a) Maraimalai Adikal 1.Pratapa Mudaliar-Charitiram
(b) Vedanayakam Pillai 2.Viveka - Vilakkam
(c) Joseph Beski 3.Kokilampal-Kadidankal
(d) Venkatachariar 4.Veda Vilakkam
FpSHreRTUSTOIDeD FHwTs LT HEHSHIS%.
a) A.Le»DLOEneV S|Lg &6 1.0 rsu gasedlwri Ffldgrio
b) B.Gsugprwsid teremer  2.aiGeous -allendssio
c) C.Ggmrsll Quevd] 3.@a T AT DLITST &19 5 BIS%H6T
d) D.QeumisL réderflwmri 4.@oug ailendaLb
A.3214
B.3142
C.2134
D.1432

142) How many days may a member of Pariiament be absent from sittings of his house without

permission?
§p(h LITYTEHLOGTM 2 miLILflesTi Senind] QLIMTLO6D 6TdHSHM6IT HTL % E1hd &) SjeweU [BL_61Lq &6 6160

HVbg| ClBT6TaTTIOE () (hHHHEVTID?

(A) 30days

(B)60 days

(C) 40 days

(D) 70 days

143) Ideal of liberty. equajity and fraternity has been taken from
A.Irish Revolution
B.French Revolution
C.Russian Revolution
D.American Revolution
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HHHITID, FLOSHHIUD LPMILD FCHETHTHHIN & GC\EHTeTeNS 6THIS (HHGHI ClBTewRT(H surliLi’ L g)?
A.gofleig L4
B.repars ol g
C.regwis gy &
D.9@Quwféal g4

144) Percapita Income rises when
(A) GNP and population increase at the same time
(B) GNP and population decrease
(C)GNP increases fas~er than population
(D) GNP increases slower than population
STBLIT VT eUHLOTETLD 6TLIGILIT PG 2 WiTSmg?
A.Qurss Casflw 2 HuUGSUYLD Waa6T C1FTemas | @Cr CHrsslsy 2w CuTg)
B.Quwrss Caflw 2 pLSSlu|D ds6T Gl Tens b Gs»mulb Cumrg)
C.0wrés Casflw 2 HuGH) F)sMliy wshseT GsTensewweail HFlswTs 8% @Hn CLrg)
D.Qwrés Casfw 2 Musd) wahaer Ggrensemwall Gsmujib Curg)

145) Which agitation is called as the "Blue Mutiny"
(A) Chipko movement
(B)Indigo agitation
(C) Bhils agitation
(D) Santhal Rebellion
H6Vd HeVSLD 6T Y WLPSHBLILIHILD HVSUTLD 6757
A ALGsET @uidsid
B.@)ewsrig C&m SHeveurid
C.lsvsrv ssveurid
D.gpgmsv 4ol &

146) A 2-digit number is3 times the sum of its digits. If 45 is added to the number, its digits
are interchanged. The sum of digits of the number is
T @)renT(H) @)V 6TewT Y 6vTG)| (9)6Vd 5 BIB6 6T Fn (H60l60T SLOL_BIF LMHMILD b 6TevTGewtm(h) 45-0
(b Curgl HCHTL Vs sBISH6T LIFLITSHMT YH M| 6TedflsL 9|bhg 6TevwTEw 6T (3)60d MBIk 6ifl6dT
Fn(hBH6V 6T6IT6VT P
(A) 5
(B)7
(€)9
(D)11

147) In a group of 15 people, 7 read Hindi, 8 read English while 3 of them read'none of these
two, How many'of them read both Hindi and "English?
15Cui Gamewnr @pallsy 7 Cumss@ @)hau)b,8CLHsE ) BISlevpd euTddhs 65 flujbn.3CLHE G
@) et surHlss g Mwrg sTesflsy eTdhHemer CL(HSHE @)TenT(HD eurFsHs 6lgMu)ib
A) O
E
(C).4
(D) 5

148) The greatest number that will divide 137, 182 and 422 leaving a remainder 2 in each
case is

s BLIGL(H stevor 137,182wmHmiid 422 o dlw sTawdTasemen au@@ds o Curg) stevsvrauDMlapid 216 Sluirs
HleWL_d @ LD 6T6vT 16V b LOLIGILI(H 6TevoT QY 6vT )
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(A)15
(B) 12
(C) 21
(D) 22

149) If 40 men working 8.hours a day, can write 1920 pages in 4 days; 60 men working 6

hours a day, can write how many pages in 2 days?

40Gui 8wewfl Gprid 4 Brigssr 1920ussBIs6T sTpFlermsv 60 Gui Guoewfl GHrib 2 BT Heiflsv
6THSHEMET LISBLD 6T(LPGI6UTTSH6T P

(A) 980

(B)1080

(C) 1180

(D) 1280

150) From his house, Sathish 'Yent 15 kms to the North, thenhe.turried west and covered 8
kms,then he turned south and covered 6 k~s. Finally, turning to east, he covered 8 kms,
then in which direction is he from his house?

(A) East

(B)West

(C)North

(D)south

FH g ettt 6T B)(HLILISSl6L @) HHEHI 15816 HTrid eul_& @ CrTaHdl Lwentlss Ly CunGas
FlpoLl) 8.8).18 Lwenflgg ,9Her Liler GsmHG8a HmoLl 6.51.16 Lwenfldbg),semL_Fwrs HpsGs FlmLi
8.8.16 Lwenll$sTeL, H6T @)HLUILNL_Sews 6ThS SHlewaulley (@) HLiiri?

A. Ay s,

B.Gumn g

C.aLs@g

D.0snh&

151) A man is engaged in an office on-contractual basis for 30 days. In the terms and
conditions of his appointment it is mentioned that he will get Rs. 150 per day and if he is
absent, an amount 'of RS.25 per day will be deducted. On completion of his contract, he
receives Rs. 3,625 only. For how many days was he present in the office?

(A) 20 days
(B) 25 days
(C) 22 days
(D) 27 days
sp(h eslB i PLILIHS S LiLienwL_ulled sp(h SeVieusEGSl60 0BT B EHHEH Couemevds @
SILTSSLAL LT, Beurd| spLiLibhgdHlev, Beuensvd @ auhd bl sehds@ oh 150 Fbuerwpld ,eurrs
BT % Ehd @ .25 HUTTHLOTH D FTTefldsliLl L gl.pliLbhs (pigaisd eui cp 3,625 Glunmis
O\ TEHTL_T6V,6TH BT HITL_H6iT Heui Ceusnsvd @ ubH T ?
A.20mr se6ir
B.25p il geir
C.22pm1" st
D.27pm seir

152) If a plot of land is in the form of a quadrilateral where one of its diagonal is 250 ill
long..The two vertices on either side of the diagonal are 70 m and 80m away then the area of
the plot in the land is
(A)18750 m.sq
(B) 20000 m.sq
(C) 30000 m.sq
(D) 40000 m.sq
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2 of () LHSTWTRTSI BTHSTLD aulgalle) 2 6TaTg. 9 H6T (h cLpsws el L (b Bearid 25016
BTHHTSHBHeT @)W 6T 2 FFH6T cpemev alll_L_GHledlBHgh 705,8015C5Temevailds 2 sirarer sTevflev aft” (B

wenestulledr LITLiLoTe)

A.18750152

B.20000.52

C.30000u52

D.40009.52

153) Match the Discovery with Scientist Name' :

A.Binomial nomenclature 1.K. Landsteiner

B.Fluid mosaic model of cell membrane 2.G. Beadle and E. Tatum

C.One gene one enzyme hypothesis 3.S.J. Singer and G.L. Nicolson

D.Human blood group 4.Carr Van Linnaeus

H1PHWTL_ ST (HLIlL LIL|HeWET 9SDHTET HMW6hTaHEHL 6T 61LITMISHHIS

A.@) QB wewm 1.k.GevemrL_svig eori

B.G#sv Feuallesr Slyau Gliorewss wrgli 2.G.fige0 wHmid E Lmi L ib

C.pm ef'sr sp(p CBrzl Cami_umr( 3.5.J. Amisi wHmidG.LplsesvFer

D.uvefls @)rés &L susnsser 4.8mi6v surest 60l6sTGeuTILIEN
(a)(b)(c)(d)

(A)1342

B)2341

C)4.321

D)4123

154) Which disease is otherwise called as "Christmas DIsease"?
A.Haemophilia A
B.Haemophilia B
C. Protonopia
D.Deutronopia

HWlggerv CHmi sTedTLIGer Goumy GlLIw eTedT6dT?

A.anfGuriiledwr () @)rés 2 mpuTsTeny A
B.anfGuriiledwr(se))@)rés o somuirerenio B
C.yGrmGLr@pmiiiwmr
D.guyt 19 Grr@mriilwmr

155) Anti Leprosy Day is observed on

(A) 18 January

(B) 21 January

(C) 27 January

(D) 30 January

QBTupCBmi 6Ty Hlevorid 63T epiFfldbsliuBSIng?
A. 18gevreur

B. 21gereur

C. 27 mevrsuifl

D 30gevrsuif]

156) Point out the correct statement .regarding Bardoli movement.
(A) The Bardoli programme of Gandhi laid stress on removal of untouchability
(B)The Bardoli programme laid stress on non co-operation.
(C) The Bardoli programme laid stress on civil disobedience
(D) The Bardoli .programmelaid stress on communal harmony
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F1PHTEW(LD euTsH S W BIS6fled(Hhg LTEHTO @uissd GTLTewL w FHlwrer allenL_enw Czpiey
CFIweyLD
A.asrihglullet LTCGsTed @)uidGaLd HadTL_TewLn spLflGs (LPUISTDSI
B.uiGsred QluEsd sgiewpuTen @uwdbssHens 945 555
C.uirGsred @uisasid,F L ML QUEEHSMS ST H55]

D.uiGsmred @uisasib,@)er sphHmIsHLDen U GTevTLy L]

157) Which of the following is/are not the main features of the parliamentary system of

government?
1. Fusion of powers
2. Judicial review
3. Written constitution

(A) 1 and 3

(B)2 and 3

(C) 2 alone

(D) 3 alone

Lilesreu(peuesteummIsiT LITTTERHLOGTD (LpewTuilediTLIly H6UMTET Jn DM 6THIP
1.9 Blarifl spmmislenentiiy
2.53] ) e
LTt L o rfuiev FLL b
A. lwpmid3
B.2.wopmib 3
C. 2wl (@1ib
D.3wl @b

158) Point out a wrong statement from the following statements In the following conditions, no
person shall be eligible for election as President unless he
A.is a citizen of India
B. has completed the age of 35 years.
C.is qualified for election as a member of House of people.
D.holds any officeof profit under the government of India

FHPSHTEWILD BILIHHWITHET @) (HhHTEVTIHW §3(Houi & LqWTdHd Heweveui Cahigedlsv Guimiiquill
BSSUEDL_WeUT 96V6V?

A.@QbhSlw GlyoseTrs @)(hdba5 GCeuest(HLd

B.35 auweng sL_b (Hd55 Ceuewt(HLd

C.usseremar 2L milifleri G isedley LIk ClaTsTERD $&HF B)(HdHH CeusnT(HLd
D.sygmwpsirar esCHemid sp(h e Ligailulled @) mss Ceussdr(HLd

159) Which article of the constitution empowers the parliament to legislate on any matters of
State list?
(A) Art. 115
(B) Art. 183
(C)Art. 221
(D)Art. 249
wrplev LI 1qu1edlsy 2 eiter glewmuilsh FL L G6w% @upmieusn@ LITTTERLOSTDLD Fohdl LIeDL G55 6TeTM)
FnmIHleTn ailF) 61?
A. allgl115
B.ail$183
C.ailg) 221
D.ailg 248
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160) Which among the following programmes'aims at ensuring a bank account in every family?
(A)Pradhan Mantri Jan Dhan Yojana
(B) Saansad Adarsh Grama Yojana
(C) Swachh Bharat Mission Abhiyan Yojana
(D) Integrated Child Protection Scheme
FPSHTEWILD 6THS S L 1D sp6ubleuT () GBLWPLD P(h UBIF] HewTdhE Maub (3)(hHa Geusnt(hLd eTedr
2 DIFLIUGSSISDSI?
A.0rgmret whFlf gret S 1b
B.srstrel gy e Slymdlw Sl ib
C.oveurd urrsg lager LilwirsT Sl 1b
D.gp®mBdlenenths & LphensddssT LUTHISTLIL S L 1D

161) Where was the Mahalwari system first introduced in India?
(A) Agra and Oudh
(B)Tanjore and Trichy
(C) Vijayawada and Kurnool
(D) Jallandar and Delhi
Ww&HVU T pewm @) HhSwralled LpHesT ewMWITSH 6ThIF CGTL BISLLIL L g)?
A.QETT LOHYID S
B.sepeFmayi wpmid Hmad
C.allgweur_m whHmib &imrev
D.@evbsi wpmib 6L_sved]

162) The sum of the squares of three consecutive positive odd numbers is 251. Find their sum?
epsiTm 9 H55HSS Llewds phewm eTewToHa 6T UTdhaBBIS6TT Fn (HH6L 251. 9j6ublouanTH6f 6T Fon (HBH6V
6T63TGOT
(A) 25
(B) 27
(C) 26
(D) 24

163) Six students A, B, C, D, E and F are sitting in the field. A andB are from Nehru house
while the. others belong to Gandhi house. D and F are tall while the others are short A, C
and D are wearing glasses while the others are not. Which tall.student of Gandhi house is
not wearing glasses?

2 swwsTarsled A,B,C,D,EnpmiibF stesrm Oomesteauiassr owibhdlhhosert. euiseaflsy A,B Cpm
GWeweu CFihGHeuiHem.LoMMeuTser Thsl & WaTiemen CFipbseuiser.6Cufey D,F " HGw

2 _wywrereuisst.A,C,D sterLiouiass 1l (HGLD HeWT HeTenTTLy )6WTlHBHeUTSH6T 6THTMTEV ST HD
GWal6D 2 _6TET 2 WIFLOT6EIT &6V FHEUIT6NTTLY 68T HeuT wimi?

(A) B

(ByC

(C) F

(D) E

164) Find the number whose seventh part multiplied by its eleventh part gives 1232.
(1 6TEWTERTI&IT 7-6ug| LITHSmS FuewL_w 11-eug LurssE8s5TH GlLmeHSleTTsL 6umHoug 1232
6T6vT16V. 6T6UT WITG?
A) 121
B) 49
C) 308
D) 316
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165) When and to whom did the Danes sell all their settlements in India?
(A) 1745 - Portuguese
(B) 1776 - French
(C) 1800 - Dutch
(D)1845 - British
CLeflwigssT sBsEHe»LW @)HIHw &g uillpriysener wrili b etiGUTg| ellDmTiser?
A.1745-Gurids:E Huiiaser L 1b
B.1776-0Qrepasarriseafl_ib
C.1800-L_ds:&asrrisef b
D.1845- gy mislGevwigeflib

166) Match the list:

List I List II
(a) W.K. Koeppan 1. American Climatologist
(b) Alfred Wegener 2. Classification of World Climate
(c) . Sir George Airy 3 . Concept of Isostasy
(d) G.T. Trewartha 4. Continental drift theory
uiquiev I-2 1 et7 II-g01s QurBH515:
a) L Uilsiryy. Ga.CamiiList 1.9/6wfldbs SHTeVBleMeL e16DEY|6VTT
b) oeoilr Gleudsesri 2.2 05 STVBlEMED UM LILIT(H
C) &i gomiey enifl 3.Fwplevg s eTenio GaTium®
d) .4.Blmeuridsmr 4.56MTL b6y GETeTET
(abcd)
(A)2431
B)4231
c)1243
D)3412

167) Which one of the following is not true about Lalit Kala Academy?
A) Aimed to promote and propagate understanding of Indian Dance, Drama and Literature
B) Established on 5 August 1954
C) Has 6 regional centres all over India
D) Extends financial assistance to state academies
V6e0ld HVT Y HTHL HBSH & LPHITL_6UDMI6T 6T FifliTesTSHe060?
A.@)hFlw BL&TLD,HTL_&LD LHMID @)VEHH WSS 205G allbgl LTaus ClFw D Gnl&HECHTener &
Gl TesTL )
B.5 gsevl 1954-60 Blmieutiui’ g
C.QbSwm st 6 e 6V BHeuniHemer Ola TesT(HeTerg)
D.urplev oarsilsendsd Blg 2 sal geafllsdng

168) The Consumer Protection Act 1986, granted the District forum can adjudicate the matter
upto
(A)20 Lakhs
(B) 25 Lakhs
(C) 15 Lakhs
(D) 30 Lakhs

1986-1b o e001(® BisTEeuUTT LITGISTLIL FLU_L 1D, LOTEUL L BIdbTEUTH LOETMBIS E1HEHEBTET HBIBTT
QUTLDLITS QULPHISW|6TET)

A. 2060 51D

B.25ewi" #ib

C.15ew &1

D.30sv_&1b
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169) Which one of the following bacterium has extensive usage in Genetic Engineering work in
plants?
(A) Clostridium septicum
(B) Xanthomonas citri
(C) Bacillus coagulens .
(D) Agrobacterium tumefaciens
STeur Wwrys 615mifled B Lailws) 9Hls Herallsy LweTUBHSSLILIGILD LTdHhieflwr
A. Sermevwig flwib CFLig &b
B. Q#pGasrGurermeiy Alenr
C. Gudlevsvev G muwim@svesren
D. 9&Crrurditeflwid CuyflGuduisiTeny

170) A is richer than B,C is Richer than A,D is richer than C.E is the richest of all.If they are
made to sit in the above degree of richness,who will have the central position?
A gpevreui B - el susglurereui.Coperreui A -g9 el susglwrersui .D gyereui C -0 afl
susglwrereui. Egpereui stsvGevremyaill_eyib susFdwimesteur 6Tevfls. SeuirsBemer Seuieflerr eugd)
gLt uiled 2 I Ty eweugsTeL wri BHailsv @)|Lriumi?

A

B

C

D.

oW

171) A hollow cylindrical iron pipe is of length 35 cm. Its outer and inner diameters are 10 cm
a nd 8 cm respectively. Find the we igh t.of the pipe if 1 cu.cm of iron weighs 7 gm

sp(h 2_erefL_Hm &) oy Gruilest Ferd 3S6)F.L6. 9 eor Gleuaf] LHMID 2 61 el L Bissr pewmGu
10Q#..6 wpHmid 86&.16 stevflsL .@)HibLd @Lpmullet sTewL_swwr srewsrss.(1.5.60F.15 &) HLoLiesr sTewr

TErmid
a. 6.93kg
b. 9.90 kg
c. 7.53 kg
d. 7.93 kg

172) The average of 4 values is 20 ‘and when a quantity is added to each value the average is
22.Find the quantity.

4y seflsir Frram 20 9@, @ stewr 4 wlisefer gt L i’ L et 22 eresflsd

FoL_L_LILIL L 6T633T 6T63T60T 2

ao op
AN W

173) What is the other name for Leprosy?
(A) Botulism
(B) Tetanus
(C) Hansen disease
(D) Rabies
QT CrrulleT LHEM T CLIw T sTedTewr?
A.ur@®edFip
B.@L__1_mevreiv
C.amsirsiterv @B
D.Griilev

o ' | GS1902

[Turn over



ARUL IAS ACADEMY GROUP 1 PRE MODEL 2-2017

174)

175)

176)

177)

178)

Find the principal that yield a compound interest of Rs. 1,632 in 2 years at 4% rate of
interest per annum.

4%y er® sul_1g afsliLig 29 e (hHerlsv ¢p. 1,632 (B Ul 1g S(HLD THTMTEV HFeW6VS

& EWT &% L6 LD

a. Rs. 10,000
b. Rs. 20,000
c. Rs. 30,000
d. Rs. 40,000

The book “Barbarian Days: A Surfing Life” has been authored by whom?
[A]Junot Diana

[B]Markus Lukas

[C]William Finnegan

[D]Sunil Khilnani

YdSBLD "STL_(HLOTTesTiy BTL_S6iT: 63(h FiooLlllBI 6weVooll" WTewT TSLILIL (R 6(HSIDG)?
[A] 209QBL Lwirest

[B] wrigen s men

[C] aflevedluitd 051N 6orGl6vT a5 65T

[D] evflsv Flev b mevt]

Mohan started from point P and walked 2 m towards west. He then took a right turn and
walked 3 m before taking a left turn and walked S.m. He finally took a left turn, walked
3 m and stopped at a point Q. How far is point Q from point P?

Guorser stesriieui P eteitm @)L_g8le0mbg1 ymliul B CunGs 216 grrib ClFsvdpmi. Lilsr
aueVLILdad FlmoLh 38 Hrrib GFeTn ,@)L Liudsd Sl S grrid GFeTm), @midlwirs

@)L tiugsid ol 36 rrn CFstm Q ereTH @Ldews SewL_HoTi. stedsrm Q Lysiraf]l P -jsirarfluilsv
QBps! sTeuauaTey STTSIL GBS DS

(A)2m

(B) 6 m

(C)7m

(D) 8 m

The world’s largest solar park has been built by which country?
[A]China [B|India [C|Bhutan [D]Myanmar

2 eualer e Quflu @Gflw LBisT eThs BT iged S L Liul L g?

[A] Feorr [b] @mbglwim [c] ' L mrer [D] lwmrssriomi

Richard is fifteenth from the front in a column of boy .There were thrice
As many behind him as there were in front.how many boys are there between Richard and
the'seventh boy from the end of the column.?

A& stedrLIoui 6p(h sullewFulled et @) (b 15-6ugh BLTTES BIHEDTT. j6uHdbE LiledT ,Lpedr
@) pLiLIeui Herfler sTevvTER SH6MSHUTGD CLPSTM) LOL_BIEF, 6TTM TV, 6 (hdb @ suflewdullsy Lilesr @) mbs 7-
augl BIHEGL BL(HEHGHD @ewL_Gui 6THHeNEIT HLITHET 2 _6iTar 6vTT P

a. 33
b. 34
c. 35
d. 36
179) Who has been bestowed with the first-ever Hugo Chavez Prize for Peace and Sovereignty of
Venezuela?

[A]Barack Obama [B]Vladimir Putin [C]Narendra modi[D]Juan Manuel Santos
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BT (PewDWTH Glaussflamevr ewwg] LHMID FewpwTenTend anu,GsT FrEausv Lfle wri.CluHDTT

180)

181)

182)

183)

184)

A) ugmd spumom

B) eallermigfli i iq et

C) pCrpglr Gomy

D) 299eumeir oreyisusd FTenT@GL menw

If the length of a rectangle is decreased by 50% and the breadth is increased by 80%, then
the % change in the area of rectangle is

(A)decreased by 10%

(B) increased by 10%

(C) decreased by 20%

(D) increased by 20%

2 GFsususggleir Horio S0% erain @ GHwmBSID,s05m5 80% erTalh@ 9o s%TsGHD CuTg
9SMIewL_Ww LTLied ssHL@LD THMES6T FHaTHLD 6TedT6oT?

A. 10%@swmeaurs

B. 10%9gswrs

C. 20%@empeaurs

D. 20%9gswrs

If "ORIENT" is written as "532146" and "SOUL" is "7598", how will you write "LINE"?
ORIENT ersttm GlFmevemsv 532146 stesrmiid SOUL srsirp GlFmevemsv 7598 stesrmiid stpgleorms LINE
6T6dTM GIFTEVLEM6L 6TLILILG 6T (LG T 6T ?

(A) 9241

(B) 8341

(C) 8241

(D) 6241

If 7 is related to 56 then 10 is related to
eTewo1 7,56-m @ FoLbSLILIL L &) etedTred ,10-d@ FoLbsLLIL L eT6sr?
a. 74

b. 64

c. 30

d. 90

During the time of Harsha who served as the head of the Nalanda University?
(A) Fahien

(B) Hiuen-Tsang

(C) Shilbhadra

(D) ltsing

ANFOGH HTVSHBIV BTETHST LIVHMEVSHHLPSHDH DG HEWEVEHLD aUdsIdHH e[ wmi?
A.Limamluimest

B.ujeurerr seurmi

C.Asvruigrm

D.@ fAm

Which of the following cases prompted the Indian Parliament to enact 24th Amendment

Bill?
(A)Golaknath case
(B) Shankari Prasad case

(C) Keshvananda Bharati case
(D) Shah Banu case
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@)bglw uTrTEpLeTD 24-0ug FI L ST (hsSI DG HTTOTHTHSTOUTES HYeWIbS FiFenaFd i aILps s,
wrg?

A.GHTeVsBITS auLpdE,
B.sdisf Urars eupd s
C.Cxaauphs UTTSH aups @
D.agr ursy supss@

185) Match list I with List II

List L. List II
High courts. Year of establishment
(a)Allahabad. 1.1862
(b) Delhi 2.1881
(c) Karnataka 3. 1966
(d) Madras 4. 1896

uliquiev I g0 i iquied I o161 QuUTmS5 515

2 WG SIUDSTMBISHET. 2 (HeuTdhabLILIL L 6esT(h
A.gvarTurs 1.1862

B.GlL_sved). 2.1884

C.esiprLsr. 3.1966

D.Quwi grev. 4.1896

(A)1342

B)2431

€)3124

D)y4321

186) Which one of the following is not a function of Chief Election Commission of India?
(A) Conduct of elections to the office of the State Governor

(B) Conduct of elections to the offices of the President and Vice-President

(C) Conduct of elections to Parliament

(D) Conduct of elections to the State Legislatures

Uleiteupid Liswtlasafley 6Ths spedTml @)hFUl Hewevenio CHiTHeD By ewewTIdFlerr LiswflHeflsy speTml V60 ?
A.oTBle0 D EBBT HYIUVHSSIN ST BHTHEV BHL_ 55156V
B.@@wrs semeveui mmIh &160ewT &)lq W Td HemeVal 9eVI6U60SBIEhEE T BHTH6VHMET HL_dd|dH60
C.urgrepweTn SHDEHTT CHiT HVHEMET HL_dJ) 360
D.worFlev FI L et BIEHSGESTRT CHTHVBEMET HL 551560

187) Who was called the Portuguese Knight Courtier and Sea Captain?
(A) Vascodacama

(B) Columbus

(C) Ferdinand

(D) Barthalomeu Diaz

SLULUDUEDL FTLIS 6TTOLD HeweuGUITET 6TTOYLD ewLpdhHLILIL L GUTTdhgIshd Fw &ia6laFuisv
Yl euedt wiri?

A. surev@&mrL_smriom

B.@&mevibLien

C.Quirig estresst(h)

D.uigsGeurGuouy Lwisiv

188) A survey in which information is collected from each and every individual of the
population is known as
(A) Census (B) Secondary data (C) Schedule (D) Data collection method
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(M HTE061H B ,ClTSs WEHHETOISTNSH U 6p6ibleummeuflL_ L (HHGID aileursisener & CFasflliLgsnE
Quwii?

A.pupssentliiy B.@)rewr_mib Blewev greyseir C.allerm Ggr @z D.srey Gssflés@h pewm

189) Which of the following is not correctly matched? wiereupid sths GsrLi Fflwrs
CuTHHBHailevensv ?
A. 6th BRICS Summit 2014 — Fortaleza, Brazil
6 sugy Liflgsew o g8 wrpr@® 2014 - CurigGagr, LIGrflsv
B. 7th BRICS Summit 2015 - UFA, Russia
7 sugy Lflgev 2 g4 wrpr@® 2015 - Ufa, regwr
C. 8th BRICS Summit 2016 — Benaulim, Goa, India
8 sugy Lilflgsew o g4 wrpr® 2016 - Querero=edid, CGsmeur, @)bHslwir
D. 9th BRICS Summit 2017 - South africa
9eugy Ulflgew o &8 wrpr@® 2017 - Qgper oy tifldbsm

190) Match the following GurhssHIs

INDEX 2016 INDIA RANK

1) Economic Freedom Index a) 39
CQUITHTTSTT FHHSH T GMIuTL B

2) Logistic Performance Index b) 128
Gevrdldigd ClFwevSmedr @&mIufL (B

3) Global Competitiveness Index, c) 143
2 svsarrTailw Curiigsslner Gnluf®h

4) Health Index s#srgrr @pluf 6 d)35

1-a,2-¢,3-b,4-d
1-b,2-d,3-a,4-c
1-b,2-d,3-c,4-a
1-a,2-d,3-c,4-b

oCow»

191) In which State was a solar-powered boat service launched by recently, the second of
its kind in the country? #s1fu5F)ev , @A wssd) e Guikigd BriigCeGu @)resrL_reug LIL &
Gaemeu, sThs LTHVSS6D C\HTLBisslwg?

A) Maharashtra waryregigrm
B) Kerala Gsrerm

C) .Goa Gsreumr

D) Gujarat gmrrs

192) Where are the headquarters of International Vaccine Institute located? r&iGs
International Vaccine Institute gewsavenwwsid ewLobgisTeng?

A) Paris umriflev
B) Seoul AGuirsv
C) London svessrL_esr
D) New York mlywirid
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193) The United Nations International Day of Happiness is celebrated on which date?
m&Ew prhser- ullet FieuGse wApFfSlard e1bs Casluiled GaTarL T LILGEDgG?
A. February 16
B. March 20
C. May 19
D. April 6
194) India observes the National Deworming Day on which of the following date? @)hglwr
CaAw GL P BEs Serd 61hs Chsluiled enFflassiiLGEng ?
A. January 9
February 10
February 16
March 12

Oow

195) Who has become the brand ambassador for 2017 T20 Blind Cricket World Cup?
wrir 2017-T 20 uriswanupmp Hf&6s. 2 Vas Cariiemu GrgeupTs Bwbléssiut L ri?
A) Rahul Dravid rr@ev grraill
B) Sachin Tendulkar #&dflesr GL_ssor(Hev s
C) VYV S Laxman
D) Saurav Ganguly afl afl ererv eVL”grLossor

196) which of the following is correct?
Uleireumid 6155 ampmuseir Fifl P
1) 2016 BRICS Friendship Cities Conclave ~-Mumbai
2016 fgev B Ly BHTBISHET LOTHTH ~(LPLDEHLI
2) 2016 Mahindra Samriddhi Krishi Shiromani Samman -Amrita Patel
2016w6anpslr Fiofg Sfafl afl@rmrwenfl Fibiweir-9bMg L GL_ev
3) Mukhyamantri Santwana.Harish Yojana - Karnataka
&I wwbS T Fheurer anifles CuiTmeT — HiBTL %
A) 1 only B) 2 only C) 3.only D) 1,2,3

197) The Nobel Prize in Literature 2016 was awarded to -2016 sv Gpruev uifla —@)evdaslwid
WT(HdG aIPBISILL L 5P
A) Jean-Pierre Sauvage ofn-U1Gwiri swrGeugh
B) Juan Manuel Santos gy®eursst wrenisusd Fressr@Lmer
C) Bob Dylan urti igevmesr
D) Oliver Hart ey efloui anmit

198) Which of the following is not correctly matched?
Ulstrau@pid 1P GOsmLi FAlwrs Glurphsaiensy ?

A) Shaheen Eagle 2016” airforce Exercise- Pakistan and China
agrafer @ 2016 "allwrerdiuen LullhF- urdlevsgmer & Ferm
B) The Group of Seven (G-7) summit for the year 2016 — Japan
g BrHssT & (231 7) oyt 2016 o & wrpr@H — e LiLimesr
C) “Mission Bhagiratha”water project - Telangana
"lager UTETHT" BT HIL 1D — Qe BiskTevTT
D) RV Easwar Committee - Goods and Services Tax (GST)
g ir.all. Easwar g - Qur@mL_gssr wnmih CFensuser sulfl (edlerervig)
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199)

Which of the following is not correctly matched?
Uleireumid 15 CsmLir FAlwrs GlLrphbsailsensy?

A) Operation Milan”- police department of Uttar Pradesh
uGragsr Milan " -2_gsr Lr8ss sTeusd gewm

B) Pradhan Mantri Ujjwala Yojana launched district - Ballia
Ulrgwr S 1b QsrLmisiiul L wreul L1 'L 1b - uredlGu

C) Pradhan Mantri Ujjwala Yojana - LPG connections

Ulrgioi 2 _ghsgmsuert gl L 1b - eTfleumuy (G)emewriiL

D) World’s first graphene electronic paper - India

200)

A)
B)
C)
D)
A)
B)
C)
D)

2 a6 (pBHev LolesTerrem sTdls Graphene — @) bglum

Which of the following is not correctly matched?
Uleitaumid 158 CBTL i Fflwrs QuUThhsailsvensy ?
India’s first Defence Industrial Park - Ottappalam,Kerala
India’s first aviation park —Vishakapatnam,Andhra
India’s first Gender Park -Kozhikode, Kerala.
India’s first co-operative society in Information Technology (IT) sector - Kozhikode, Kerala
@ bslwrailsT psHsv LITGIGTLL CSTLHIL LBIST - L L LITeVLD, GaHrarT
@bglureailst psHs ailmer CUITd@GauTdhg) LybIST- allFTsOLILLY 6dTLD, &) b T
@)bglurailsT poHed LITeL LITTES — CaTflECGasTL, Garemr
@hgwrailsr ssausv Qariflevmir L (IT) siemmuled YPoHs» gl Hmey Fhisio— CaTflECsT, CHrert
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